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1) ¶mn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) S>ãbynrEb {H«$Ho$Q> H$n 2023 ‘w§~B© BpÝS>¶Ýg ‘{hbm g§KmZo qOH$bm.
b) ‘w§~B© BpÝS>¶Ýg {H«$Ho$Q> g§KmMr H$U©Yma ñ‘¥Vr ‘§WmZm hr hmoVr.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$
3) (a) Am{U (b) XmoÝhrhr 4) (a) Am{U (b) XmoÝhrhr Zmhr

1) Which of the following statement/s is true?

a) WPL Cricket Tournament 2023 will be won by woman team of Mumbai Indians

b) Smriti Mandana is the captain of Mumbai Indians Woman team

Options :

1) Only (a) 2) Only (b)

3) Both (a) and (b) 4) None of (a) and (b)

2) 'A°³MwAbr... Am¶ ‘oQ> Xo‘' ¶m nwñVH$mMo boIH$ H$moU AmhoV?
1) eer Wê$a 2) Xo{dH$m a§JmMmar
3) JwbOma 4) JrVm§Obr lr

2) Who is the author of the book, ‘Actually ... I Met Them’?

1) Shashi Tharoor 2) Devika Rangachari

3) Gulzar 4) Geetanjali Shree

3) J«rZ Q>°b|Q> nwañH$ma 2022 ~m~V {dYmZm§Mm {dMma H$am.
a) hm nwañH$ma ¶wdm g§emoYH$m§Zm {Xbm OmVmo.
b) gñQ>oZ°{~{bQ>r Am{U n¶m©daU{df¶H$ g‘ñ¶m gmoS>{dÊ¶mgmR>r g§emoYZ H$aUmè¶m§Zm hm nwañH$ma {Xbm OmVmo.
c) hm nwañH$ma O‘©ZrVrb g§emoYH$ OmohmZm dm§H$m ¶m§À¶m gm¡OÝ¶mZo {Xbm OmVmo.
d) em{‘H$ Mm¡Yar ¶m ^maVr¶ VéUmbm 2022 Mm nwañH$ma {‘imbm.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Zmhr/ZmhrV ?
1) Ho$di (d) 2) Ho$di (b) Am{U (c)

3) (a), (b) Am{U (c) 4) (c) and (d)

3) Consider the following statements regarding Green talent Award 2022.

a) This award is given to young researchers.

b) The award is given to those doing research to solve sustainability and environmental issues.

c) The award is given courtesy of researcher Johanna Wanka from Germany.

d) Shamik Chaudhary, an Indian youth, received the 2022 award.

Which of the above statement /ts is/are correct?

1) Only (d) 2) Only (b) and (c)

3)  (a), (b) and (c) 4) (c) and (d)

4) ^maV gaH$maZo hadboë`m ‘mo~mB©b ’$moÝgMm emoY KoÊ`mgmR>r ........ ho do~ nmoQ>©b gwê$ Ho$bo.
1) https://ceir.gov.in (g|Q´b B{¹$n‘|Q> Am`S|>{Q>Q>r a{OñQ>a)
2) https://cair.gov.in (g|Q´b EOÝgr Am`S|>{Q>Q>r a{OñQ>a)
3) https://cser.gov.in (H|$Ðr` Am{U amÁ` CnH$aUo Zm|XUr)
4) https://cpir.gov.in (H|$Ðr` nmobrg AmoiI a{OñQ>a)
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4) Indian Government launche ........ , a web portal to trace lost mobile phones.

1) https://ceir.gov.in (Central Equipment Identity Register)

2) https://cair.gov.in (Central Agency Identity Register)

3) https://cser.gov.in (Central and State Equipment Register)

4) https://cpir.gov.in (Central Police Identity Register)

5) Imbrb {dYmZo {dMmamV ¿¶m …
A) ‘hmamï´> {dYmZg ôZo {S>g|~a 2021 ‘Ü¶o 'e{º$' {dYo¶H$ ‘§Oya Ho$bo.
~) ¶m‘Ü¶o ~bmËH$mè¶mg ’$merÀ¶m {ejoMr VaVyX Amho.
H$) ‘{hbm§da A°{gS> h„m H$aUmè¶mg 10 dfmªÀ¶m {ejoMr VaVyX Amho.
S>) {dYmZg ôV AW©‘§Í¶m§Zr ho {dYo¶H$ gmXa Ho$bo.
¶mn¡H$s H$moUVr {dYmZo AMyH$ AmhoV?
1) ’$º$ A, ~ Am{U H$ 2) ’$º$ A Am{U ~
3) ’$º$ H$ Am{U S> 4) ’$º$ A Am{U S>

5) Consider the following statements :

a) Maharashtra Legislative Assembly passed 'Shakti' bill in December 2021.

b) There is a provision of death penalty to rapist.

c) There is a provision of 10 years imprisonment to acid attacker on women.

d) This bill was submitted in the Assembly by the Finance Minister.

Which of the following statements are correct?

1) Only a, b and c 2) Only a and b

3) Only c and d 4) Only a and d

6) Imbrbn¡H$s H$moUË¶m amÁ¶mZo amï´>r¶ gyú‘, bKw Am{U ‘Ü¶‘ CÚmoJ nwañH$ma, 2022 ‘Ü¶o àW‘ nm[aVmo{fH$ nQ>H$mdbo?
1) ‘hmamï´> 2) JwOamV
3) CÎma àXoe 4) Amo{S>em

6) Which of the following States won the first prize in National Micro, Small and Medium Enterprises

Awards, 2022 ?

1) Maharashtra 2) Gujarat

3) Uttar Pradesh 4) Odisha

7) AbrH$S>oM MmMUr KoVboë`m AmH$me-EZOr jonUmóm~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
A) ho O{‘Zrdê$Z hdoV ‘mam H$aUmao jonUmó Amho
~) `m jonUmómMr ‘maH$ loUr 300 {H$‘r Amho
H$) ho jonUmó ^maVr` Zm¡XbmgmR>r {dH${gV Ho$bo Amho
S>) ho jonUmó A§XmOo 96% ñdXoer gm‘J«rÛmao {dH${gV Ho$bo Jobo Amho
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A), (H$) Am{U (S>$) ’$º$ 4) (A), (~), (H$), (S>)
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7) Which of the following statements are correct regarding recently testfired Akash-NG missile?

a) This is a Surface to Air missile

b) The missile is having the strike range of 300KMs

c) The missile is developed for the Indian Navy

d) The missile is developed with approximately 96% of indigenous content

Answer Options  :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (a), (c) and (d) 4) (a), (b), (c), (d)

8) n§VàYmZ Za|Ð ‘moXr ho Ago Vo Xwgao ^maVr¶ n§VàYmZ AmhoV H$s Oo gmo‘ZmW ‘§{Xa Q´ñQ>Mo AÜ`j ~Zbo, Ë¶m§À¶mnydu
........... ¶m ^maVr¶ n§VàYmZm§Mr gmo‘ZmW ‘§{Xa Q´ñQ>Mo AÜ`j  åhUyZ {Z ẁº$s Pmbr hmoVr.
1) Odmhabmb Zohê$ 2) B§{Xam Jm§Yr
3) nrìhr Zaqgh amd 4) ‘moamaOr XogmB©

8) Prime Minister Narendra Modi became the chairman of the Somnath Temple Trust, he is the

second Prime Minister who has been appointed as chairman after .............

1) Jawaharlal Nehru 2) Indira Gandhi

3) PV Narasimha Rao 4) Morarji Desai

9) br H$m°~w©{P`aZo H$moUË`m B‘maVtMr aMZm Ho$bobr Zmhr?
I.   B§{S>`Z BpÝñQ>Q>çyQ> Am°’$ ‘°ZoO‘|Q>, Ah‘Xm~mX
II.   {‘b AmoZg© Agmo{gEeZ, Ah‘Xm~mX
III.  Jm`H$dmS> n°bog, dS>moXam
IV.  g§ñH$ma H|$Ð g§J«hmb`, Ah‘Xm~mX
n¶m©¶r CÎmao …
1) ’$º$ I Am{U II 2) ’$º$ II Am{U III
3) ’$º$ I Am{U III 4) II Am{U IV

9) Which of the buildings were not designed by Le Corbusier?

I. Indian Institute of Management, Ahmedabad

II. Mill Owners’ Association, Ahmedabad

III. Gaikwad Palace, Vadodara

IV. Sanskar Kendra Museum, Ahmedabad

Answer option :

1) I and II only 2) II and III only

3) I and III only 4) II and IV only

10) H$moUË`m H|$Ðr` ‘§Ìmb`mZo "ñdÀN> gd}jU J«m‘rU 2023 Qy>b{H$Q>' bm±M Ho$bo?
1) J¥h{Z‘m©U Am{U ehar ì`dhma ‘§Ìmb` 2) H¥$fr Am{U eoVH$ar H$ë`mU ‘§Ìmb`
3) Obeº$s ‘§Ìmb` 4) J«m‘rU {dH$mg ‘§Ìmb`

10)  Which Union Ministry launched the ‘Swachh Survekshan Grameen 2023 Toolkit’?

1) Ministry of Housing and Urban Affairs 2) Ministry of Agriculture and Farmers Welfare

3) Ministry of Jal Shakti 4) Ministry of Rural Development
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11) "gdm}ËH¥$ï> gmd©O{ZH$ dmhVyH$ ì`dñWm Agbobo eha' `m loUr‘Ü ò Imbrbn¡H$s H$moUmbm amï´>r` "ehar n[adhZmV
{Q>ßnUr nwañH$ma' {‘imbm Amho?
1) {X„r n[adhZ ‘hm‘§S>i (DTC) 2) JwOamV amÁ` ‘mJ© n[adhZ ‘hm‘§S>i(GSRTC)

3) amOñWmZ amÁ` ‘mJ© n[adhZ ‘hm‘§S>i (RSRTC) 4) Ho$ai amÁ` ‘mJ© n[adhZ ‘hm‘§S>i (KSRTC)

11) Which among the following has won the national ‘Commentation Award in Urban Transport’ in the

category of ‘City with the best Public Transport System’?

1) Delhi Transport Corporation (DTC)

2) Gujarat State Road Transport Corporation (GSRTC)

3) Rajasthan State Road Transport Corporation (RSRTC)

4) Kerala State Road Transport Corporation (KSRTC)

12) {d{dY dfm©À`m {dkmZ {XZmÀ`m Wr‘ Imbr Z‘yX Ho$ë`m AmhoV. Ë¶mn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) df© 2019 - bmoH$m§gmR>r {dkmZ Am{U {dkmZmgmR>r bmoH$
2) df© 2020 - {dkmZmVrb ‘{hbm
3) df© 2021 - amï´> C^maUrgmR>r {dkmZ
4) df© 2022 - eml²dV ^{dî`mgmR>r {dkmZ Am{U V§ÌkmZm‘Ü ò EH$mpË‘H$ Ñï>rH$moZ

12) Theme for different year’s Science Day are mentioned below. Which is not correct statement?

1) Year 2019 – Science for the People, and the People for Science

2) Year 2020 – Women in Science

3) Year 2021 – Science for Nation Building

4) Year 2022 – Integrated Approach in science and technology for Sustainable Future

13) Am{e`mVrb "’$moa S°́JZ', "’$moa {bQ>b Q>m`Jg©' Am{U/qH$dm "X J±J Am°’$ ’$moa' `m§Mm g§X ©̂  ......... er Amho:
1) X{jU H$mo[a`m, qgJmnya, V¡dmZ Am{U Wm`b§S>
2) OnmZ, X{jU H$mo[a`m, V¡dmZ Am{U å`mZ‘ma
3) X{jU H$mo[a`m, qgJmnya, V¡dmZ Am{U hm±JH$m±J
4) OnmZ, X{jU H$mo[a`m, V¡dmZ Am{U hm±JH$m±J

13) The ‘Four Dragons’, ‘Four Little Tigers’ and/or ‘The Gang of Four’ in Asia refer to:

1) South Korea, Singapore, Taiwan and Thailand

2) Japan, South Korea, Taiwan and Myanmar

3) South Korea, Singapore, Taiwan and Hong Kong

4) Japan, South Korea, Taiwan and Hong Kong

14) ^maV Ob gámh 01 Zmoìh|~a Vo 05 Zmoìh|~a 2022 `m H$mbmdYrV gmOam Ho$bm OmVmo. ^maV Ob gámh 2022 Mr
Wr‘ H$m` Amho?
1) nmUr, D$Om© Am{U AÞ gwajm 2) Hw$Umbmhr ‘mJo Z gmoS>Uo
3) ŷOb, AÑûm` Ñûm`‘mZ ~ZdUo 4) g‘Vogh eml²dV {dH$mgmgmR>r Ob gwajm

14) India Water Week is celebrated from 01 November to 05 November 2022. What is the theme of

India Water Week 2022?

1) Water, Energy and Food Security

2) Leaving no one behind

3) Groundwater, making the invisible visible

4) Water Security for Sustainable Development with Equity
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15) ^maV Am{U OnmZ ¶m§À¶mVrb AUy V§ÌkmZ ghH$m¶© H$ama {dMmamV ¿¶m.
a) n§VàYmZ ‘moXr ¶m§À¶m 2022 gmbÀ¶m OnmZ Xm¡è¶mV ¶m H$amamda gøm H$aÊ¶mV Amë¶m.
b) OnmZH$Sy>Z ^maVmbm AUwV§ÌkmZ, AUwB§YZ Am{U Ý¶yp³bAa [aA°³Q>g© hñVm§V[aV Ho$bo OmUma Amho.
c) OnmZÀ¶m Vmo{e~m H§$nZrZo dm°qe½Q>Z hmD$g hr A‘o[aH$Z H§$nZr {dH$V KoVë¶mZo, ^maVmZo dm°qe½Q>Z hmD$g ¶m

H§$nZrer AmpÊdH$ V§ÌkmZ hñVm§Vam~m~V Ho$boë¶m dmQ>mKmQ>r, ^maVmgmR>r ’$bXm¶r AgVrb.
d) ^maVmZo EZQ>rnr Am{U grQ>r~rQ>r H$amamda ghr Ho$br ZgyZgwÕm ^maVmbm AmpÊdH$ V§ÌkmZ XoÊ¶mg OnmZZo

ñdrH¥$Vr {Xbr.
darbn¡H$s H$moUË¶m VaVwXr ~amo~a Amho/AmhoV ?
1) Ho$di (a) Am{U (b) 2) Ho$di (a) Am{U (c)

3) (b), (c) Am{U (d) 4) darb gd©
15) Consider the nuclear technology cooperation agreement between India and Japan.

a) The agreement was signed during Prime Minister Modi's visit to Japan.

b) Japan will hand over the Nuclear technology, Nuclear Fuel and Nuclear Reactor to india

c) India's negotiations with the American company Washington House regarding the transfer of

nuclear technology will be fruitful for India as the said company has been acquired by Japan's

Toshiba.

d) Even though India has not signed the NTP and CTBT treaty, Japan has agreed to transfer nuclear

technology to India.

Which of the above statements are correct

1) Only (a) and (b) 2) Only (a) and (c)

3) (b), (c) and (d) 4) All the above

16) ZmoQ>m ‘VXmZmMm n`m©̀  ........ {ZdS>UwH$sg bmJy Amho.
A) amÁ` {dYmZg ôÀ`m ~) bmoH$g ôÀ¶m H$) amï´>nVr d Cnamï´>nVr
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

16) The NOTA voting option is applicable in .........

a) State Legislative Assembly Elections

b) Lok Sabha elections

c) Election of the President and Vice-President

Select the correct answer code:

1) (a) and  (b)  only 2) (a) and (c)

3) (b) and (c) 4) (a), (b) and (c)

17) 124 do KQ>Zm XwéñVr {dYò H$,  2019  ............ ššer g§~§{YV hmoVo.
1) amï´>r`rH¥$V ~±H$m§Mo {dbrZrH$aU
2) Oå‘y-H$mûm‘raMm {deof XOm© aÔ H$aUo
3) g‘qbJr {ddmh
4) Am{W©H$Ñï²>`m Xw~©b KQ>H$m§gmR>r gaH$mar ZmoH$è`m Am{U {ejUmV AmajU
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17) The 124th Constitution Amendment Bill, 2019 pertains to ____

1) Merging of nationalized banks

2) Scrapping the special status of Jammu and Kashmir

3) Same-sex marriage

4) Reservation for economically weaker sections in Government jobs and education

18) "J«m_XmZ' VÎdmZwgma àË`oH$ JmdmVyZ EHy$U joÌmÀ`m {H$_mZ ...... Q>¸o$ O_rZ ^y_rhrZm§Zm CncãY H$ê$Z
Úmdr Ago R>aco Amho.
1) 5% 2) 10% 3) 15% 4) 20%

18) According to the 'Gramdan' principle, from each village minimum ---- % of the land will be

available  to landless people

1) 5% 2) 10% 3) 15% 4) 20%

19) AmajUmVrb {H«$‘r bò a ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
A) g¡Ý`mVrb H$Z©b Am{U Ë`mhÿZ A{YH$ nXmda Agboë`m Am{U Zm¡Xb Am{U hdmB© XbmV g‘Vwë` nXmda Agboë`m

ì`º$s¨Zm Amo~rgr AmajUmMm bm^ KoVm òUma Zmhr.
~) amï´>nVr, CnmÜ`j Am{U Cƒ Ý`m`mb`mMo Ý`m`mYre `mgmaIr KQ>ZmË‘H$ nXo Agboë`m ì`º$s¨Zm H«$s‘r bò a‘YyZ

gyQ> XoÊ`mV Ambr Amho, Ë`m§Zm OBC AmajUmMm bm^ KoVm òB©b.
n¶m©¶r CÎmao …
1) (A) ’$º$            2) (~) ’$º$        3) (A) Am{U (~) XmoÝhr       4) (A) qH$dm (~) XmoÝhrhr Zmhr

19) Which of the following statements is/are correct regarding Creamy layer in reservations?

a) Persons who are in the rank of colonel and above in the army and equivalent rank in navy and air

force cannot avail the OBC reservations.

b) The persons holding constitutional positions like President, Vice-President and Judges of HC

are exempted from the Creamy layer, they can avail the OBC reservations.

Answer Options :

1) (a)  only 2) (b) only 3) Both (a) and  (b) 4) Neither (a) nor  (b)

20)  Imbr XmoZ {dYmZo {Xbr AmhoV EH$mbm à{VnmXZ (E) Am{U Xwgao H$maU (Ama) Ago bo~b Ho$bo Amho:
à{VnmXZ (E) :  ^maVmMo amï´>nVr {dÎm Am`moJmMo AÜ`j Am{U gXñ` `m§Mr nmÌVm R>adVmV.
H$maU (Ama) : {dÎm Am`moJmMo AÜ`j Am{U gXñ`m§Mr {Z ẁº$s ^maVmMo amï´>nVr H$aVmV.
n¶m©¶r CÎmao …
1) (E) Am{U (Ama) XmoÝhr gË` AmhoV Am{U (Ama) ho (E) Mo ~amo~a ñnï>rH$aU Amho
2) (E) Am{U (Ama)XmoÝhr gË` AmhoV, na§Vw (Ama) ho (E) Mo ñnï>rH$aU `mo½` Zmhr.
3) (E) Iao Amho, na§Vw (Ama) ImoQ>o Amho
4) (E)  ImoQ>o Amho, na§Vw (Ama) Iao Amho
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20) Given below are two statements one is labelled as Assertion (A) and other as Reason (R):

Assertion (A): The President of India determines the qualifications of the Chairman and Members

of the Finance Commission.

Reason (R): Chairman and members are appointed by the President of India.

Answer Options :

1) Both (A) and (R) are true and (R) is correct explanation of (A)

2) Both (A) and (R) are true, but (R) is not correct explanation of (A)

3) (A) is true, but (R) is false

4) (A) is false, but (R) is true

21) ^maVr` amÁ`KQ>ZoVrb ~§YwËdmÀ`m g§H$ënZo~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
(A) EH$b ZmJ[aH$ËdmÀ`m àUmbrÛmao ~§YwËdmÀ`m g§H$ënZobm àmoËgmhZ {Xbo OmVo
(~) ^maVr` amÁ`KQ>ZoVrb ‘yb ŷV H$V©ì ò XoIrb ~§YwËdmÀ`m g§H$ënZobm àmoËgmhZ XoVmV.
(H$) ~§YwËd ì`º$sÀ`m à{Vð>oMr Am{U amï´>mMr EH$Vm Am{U AI§S>Vm `mMr ImÌr XoVo.
(S>) amï´>mMr EH$Vm Am{U AI§S>Vm Ho$di àmXo{eH$ n[a‘mU Xe©dVo.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) 3)  (A), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

21) Which of the following statements are correct regarding the concept of fraternity in Indian

Constitution?

(a) The concept of fraternity is promoted by the system of single citizenship

(b) Fundamental duties of the Indian Constitution also promotes the concept of fraternity.

(c) The fraternity assures the dignity of the individual and unity and integrity of the nation.

(d) The unity and integrity of the nation denotes territorial dimension only.

Answer Options  :

1) (a) and (b) only 2) (a), (b)  and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

22) 73 ì¶m KQ>ZmXþéñVr ‘Yrb VaVwXr Am{U H$b‘o ¶m§Mr OwiUr H$am.
A) n¶m©á A{YH$mam§gh J«m‘g ôMr ñWmnZm I. 243 (~)
~)  J«m‘nmVirda J«m‘n§Mm¶VrMr ñWmnZm H$aUo II. 243 (S>)
H$) gm‘mÝ¶nUo J«m‘n§Mm¶VrMm H$m¶©H$mi 5 dfmªMm amhrc III. 243 (A)
S>)  AZwgy{MV OmVr, AZwgy{MV O‘mVr Am{U ‘{hbm§gmR>r AmajU IV. 243 (B)

A ~ H$ S>
1) III I IV II

2) I II III IV

3) IV III II I

4) II IV I III
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22) Match the provisions in the 73rd Constitutional Amendment with the Articles :

a) To establish Gramsabha with sufficient powers I.  243 (B)

b) Establishment of Village Panchyat at village level II.  243 (D)

c) Normal term of office of Village Panchayat will be of 5 years III. 243 (A)

d) Reservation for Scheduled Castes, Scheduled Tribes and women IV. 243(E)

Answer Options :

a b c d

1) III I IV II

2) I II III IV

3) IV III II I

4) II IV I III

23) Imbrb {dYmZm§n¡H$s H$moUVo {dYmZ MyH$ Amho?
1) g§{dYmZ g ôÀ¶m 288 gXñ¶m§Zr 26 OmZodmar, 1950 amoOr amÁ¶KQ>Zoda ñdmjè¶m Ho$ë¶m.
2) 'H$m¶ÚmZo KmbyZ {Xbobr nÕVr' ho VÎd A‘o[aHo$À¶m amÁ¶KQ>ZoH$Sy>Z pñdH$mabo Jobo Amho.
3) 'g§gXoÀ¶m XmoÝhr g^mJ¥hm§Mr g§¶wº$ ~¡R>H$' hr H$ënZm {~«Q>re amÁ¶KQ>ZoH$Sy>Z KoVbr Amho.
4) darbn¡H$s gd©

23) Which one of the following statements is incorrect ?

1) On 26th January, 1950, 288 members of the Constituent Assembly signed the Constitution.

2) 'Procedure established by Law' was adopted from the Constitution of the United States of

America.

3) The idea of 'Joint sitting of two Houses of Parliament' was taken from British Constitution.

4) All of the above

24) ‘hmamï´> emgZmZo .......... ¶m§Mo godm{Zd¥ÎmrMo d¶ 58 déZ 60 df©o Ago dmT>{dco Amho.
1) 'A' Am{U àdJm©Vrc A{YH$mar 2) 'C' àdJm©Vrc emgH$s¶ godH$
3) 'A' àdJm©Vrc d¡ÚH$s¶ A{YH$mar 4) 'A' àdJm©Vrc A{YH$mar

24) The Maharashtra government has increased the retirement age from 58 to 60 years of ..........

1) 'A' and 'B' category officers 2) 'C' category civil servants

3) 'A' category medical officers 4) 'A' category officers

25) Imcrc {dYmZo g‘OyZ ¿¶m …
(A) H$c‘ 301 g§nÎmrÀ¶m A{YH$mamer g§~§{YV Amho.
(B) g§nÎmr ~miJÊ¶mMm A{YH$ma hm g§d¡Ym{ZH$ A{YH$ma Amho na§Vw ‘yc ŷV A{YH$ma Zmhr.
(C) 44 ì¶m KQ>ZmXþéñVrZo ^maVr¶ amÁ¶KQ>ZoV H$c‘ 300 A Mm A§V^m©d H$aÊ¶mV Amcm.
darcn¡H$s H$moUVo {dYmZ ~amo~a Amho Vo gm§Jm.
1) ’$º$ (B) 2) (B) Am{U (C)

3) (A) Am{U (C) 4) (A), (B) Am{U (C)
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25) Consider the following statements :

(A) Article 301 pertains to Right to Property

(B) Right to Property is a legal right but not a Fundamental Right

(C) Article 300 A was inserted in the Constitution of India by the 44th Constitutional Amendement.

Which of the statements given above is/are correct?

1) (B) only 2) (B) and (C)

3) (A) and (C) 4) (A), (B) and (C)

26) 1907 gmbr S>m°. ~m~mgmho~ Am§~oS>H$a ho X{bV g‘mOmVrb ‘°{Q´>H$ CÎmrU© hmoUmao n{hbo {dÚmWu hmoVo, Ë¶mdoir H$moUmÀ¶m
AÜ¶jVoImbr nma nS>boë¶m g‘ma§̂ m‘Ü¶o Ë¶m§Mm ‘w§~B©‘Ü¶o Omhra gËH$ma H$aÊ¶mV Ambm hmoVm ?
1) H¥$îUm Ho$ed Am§~oS>H$a 2) Eg. Ho$. ~mobo
3) Ho$. E. Ho$iwgH$a 4) ga g¶mOramd Jm¶H$dmS>

26) In 1907 Dr. Babasaheb Ambedkar was the first student from the Dalit community to pass his

matriculation, at that time he was felicitated publicly in Mumbai in a ceremony presided over by

whom?

1) Krishna Keshav Ambedkar 2) S. K. Bole

3) K. A. Keluskar 4) Sir Sayajirao Gaikwad

27) {~«{Q>em§À¶m YmoaUm§Mm ^maVmVrc Am{W©H$ OrdZmda nwT>rcn¡H$s H$moUVm à^md Pmcm ZìhVm?
A) eoVrMo ì¶mnmarH$aU ~) AÞmMm VwQ>dS>m
H$) amoIrV ‘hgyc Z ^aVm ZJXr {nH$mV ^aÊ¶mMr ‘ŵ m S>) eoVrdarc ~moOm H$‘r Pmcm
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) ’$³V A Am{U ~
3) ’$³V H$ Am{U S> 4) ’$³V ~ Am{U S>

27) Which of the following were not the effect of British Policies on the economic life of Indians

a) Commercialization of Agriculture

b) scarcity of food

c) the scope to pay tax in terms od cash crops instead of cash

d) reduced burden on the  agricultural industry

Answer Options :

1) (a), (b), (c) and (d) 2) only (a) and (b)

3) only (c) and (d) 4) only (b) and (d)

28) {~«{Q>e ^maVmVrb Imbrbn¡H$s H$moUË`m H$m`ÚmZo 'nmoQ>©’$mo{bAmo' qH$dm '{d^mJr`' àUmbr ~XbyZ ìhmB©gam°̀ Mr
H$m ©̀H$mar n[afXodarb nH$S> A{YH$ ‘O~yV Ho$br?
1) ^maVr` n[afX H$m`Xm, 1861 2) ^maV gaH$ma H$m`Xm, 1858
3) ^maVr` n[afX H$m`Xm, 1892 4) ^maVr` n[afX H$m`Xm, 1909

28) Which one of the following Acts of British India strengthened the Viceroy’s authority over his

executive council by substituting ‘portfolio’ or ‘departmental’ system for corporate functioning?

1) Indian Council Act, 1861 2) Government of India Act, 1858

3) Indian Council Act, 1892 4) Indian Council Act, 1909
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29) Imbrb {dYmZ bjmV ¿¶m.
a) PmerÀ¶m amUrMm dmT>{Xdg 19 Zmoìh|~abm gmOam Ho$bm OmVmo.
b) ‘oOa øy amoO ¶m {~«{Q>e goZmnVrZo PmerMm {H$„m H$m~rO Ho$bm.
c) 21 ‘mM© 1858 amoOr PmerMr AIoaMr bT>mB© gwê$ Pmbr.
d) Pmer ehamOdi M§ÐeoIa AmPmX ¶m§Mo ñ‘maH$ Amho.
n¶m©¶r CÎmao :
1) (a) ’$º$ 2) (a), (b), (c) Am{U (d)

3) (a),(b), (c) ’$º$ 4) (a) Am{U (c) ’$º$
29) Consider the following statements

a) Birthday of the Queen of Jhasi is celebrated on 19th November.

b) The British Major Hugh Rose captured Jhashi Fort

c) on 21st March 1858, the final battle of Jhashi commenced

d) Chandrashekhar Azad's memorial is located near Jhansi City

options ....

1) only (a) 2) (a), (b), (c) and (d)

3) (a) (b) and (c) 4) (a) and (c) only

30) ^maVmÀ`m ñdmV§Í`bT>çmVrb {ó`m§À`m `moJXmZm~Ôb Imbrb {dYmZo {dMmamV ¿`m:
1) hmo‘ê$b Midi A°Zr ~oP§Q> `m§Zr gwê$ Ho$br hmoVr.
2) Cfm ‘ohVm `m§Zr ŷ{‘JV ao{S>Amo ñQ>oeZ gwê$ Ho$bo.
3) {~Zm Xmg hr {MVJmd Ama‘moar h„²̀ mMr g{H«$` gXñ` hmoVr.
4) H$ënZm XÎm `m§Zr ‘wPâ’$aZJaÀ`m H$boŠQ>aMr hË`m Ho$br

30) Consider the following statements about the contribution of women in India’s freedom struggle:

1) Homerule movement was started by Annie Besant.

2) Usha Mehata started an underground radio station.

3) Bina das was an active member of the Chittagong Armoury raid.

4) Kalpana Dutt killed Collector of Muzafarnagar

31) Imcrcn¡H$s A¶mo½¶ {dYmZo AmoiIm :
a) S>m° ~m~mgmho~ Am§~oS>H$amZ§r "h[aOZ godH$ g§KmMr" ñWmnZm Ho$cr.
b) S>m°. ~m~mgmho~ Am§~oS>H$am§Zr N>ÌnVr emhÿ ‘hmamOm§Zr {Xcoë¶m XoUJrVyZ "g‘Vm" ho d¥ÎmnÌ Mmc{dco.
c) n{hë¶m Jmoc‘oO n[afXoV ‘hmË‘m Jm§Yr d S>m°. ~m~mgmho~ Am§~oS>H$a ¶m§À¶mV Añn¥í¶m§gmR>r ñdV§Ì ‘VXma g§K

XoÊ¶m~m~V dmX Pmco.
d) "‘hma ‘m§J BË¶mXr cmoH$m§g {dÚm {eH${dÊ¶mgmR>r ‘§S>ir" ¶m g§ñWog X{jUm àmB©O ’§$S>mVyZ gmø {‘imco.
n¶m©¶r CÎmao :
1)(a), (c), (d) {dYmZo A¶mo½¶ AmhoV 2) (a), (b), (c) {dYmZo A¶mo½¶ AmhoV
3) (b), (c), (d) {dYmZo A¶mo½¶ AmhoV 4) (c), (d) {dYmZo A¶mo½¶ AmhoV
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31) Which of the following statements are false ?

a) Dr. Babasaheb Ambedkar established the ‘Harijan Sevak Sangh’.

b) Dr. Babasaheb Ambedkar started ‘Samata’ Newspaper from the donation given by Chhatrapati

Shahu Maharaj.

c) In the first Round Table Conference there was a dispute between Mahatma Gandhi and Dr.

Babasaheb Ambedkar regarding separate constituencies for untouchables

d) The Dakshina Prize Fund provided  financialbacking to the "Mahar Mang ityadi Lokas Vidya

Shikavinyasathi Mandli"

Answer options :

1) (a), (c), (d) statements are false 2) (a), (b), (c) statements are false

3) (b), (c), {d) statements are false 4) (c), (d) statements are false

32) nwT>rb {dYmZmV H$moUmMo dU©Z Ho$bo Amho?
a) Vo gaH$maÀ¶m Ý¶m¶mb¶rZ godoV H$‘©Mmar hmoVo.
b) Vo {~«{Q>e emgZmVrb Xmofm§~Ôb A{Ve¶ naIS>nUo ~mobV.
c) Ë¶m§Zr {~«{Q>em§Zm ¶m eãXmV VmH$sX {Xbr -''Oa Vwåhr Am‘À¶m BÀN>o{déÕ EImXm H$m¶Xm Am‘À¶mda bmXÊ¶mMm

à¶ËZ Ho$bmV Va Amåhr EH$ hmoD$Z Vwåhmbm naV OmÊ¶mg gm§Jy.''
n¶m©¶r CÎmao …
1) bmoH${hVdmXr 2) ‘. Jmo. amZS>o
3) H¥$. Í¶§ Vob§J 4) Ý¶m¶‘yVu M§XmdaH$a

32) Which social reformers is described in the following sentences

a) He was an emplyoee of the Government's Judiciary Services

b) He spoke in a direct and upfront manner about the drawbacks of  the British Government.

c) He warned Britishers  .... "If you impose any laws against our wish, we will unite and ask you to

go back"

Options -

1) Lokhitwadi 2) M. G. Ranade

3) K. T. Telang 4) Justice Chandavarkar

33) ‘hmË‘m Jm§YtZr {b{hbobr nwñVHo$ .........
1) qhX ñdamO Am{U {S>ñH$ìhar Am°’$ B§{S>`m 2) qhX ñdamO Am{U ‘mPo gË`mMo à`moJ
3) qhX ñdamO Am{U OmJ{VH$ B{VhmgmMr PbH$ 4) qhX ñdamO Am{U nm{H$ñVmZMo {dMma
n¶m©¶r CÎmao …
1) (~) ’$º$ 2) (A) Am{U (H$)
3) (~) Am{U (H$) 4)(A), (~) Am{U (H$)

33) Books written by Mahatma Gandhi were ...........

1. Hind Swaraj and Discovery of India

2. Hind Swaraj and The Story of My Experiments with Truth

3. Hind Swaraj and Glimpses of World History

4. Hind Swaraj and Thoughts on Pakistan

Which of these statement/s is/are correct?

1) (b)  only 2) (a) and (c)

3) (b) and (c) 4) (a), (b) and (c)



For Private Circulation Only

(13)

34) a`Vdmar nÕVr~m~V Imbrb {dYmZo {dMmamV ¿`m.
(A) a`Vdmar nÕVr Wm°‘g ‘wZamo `m§Zr gmXa Ho$br hmoVr.
(~) a`Vdmar nÕVrÛmao ‘mbH$s h¸$ eoVH$è`m§Zm XoÊ`mV Ambo.
(H$) a`Vdmar nÕVr hr ‘Ðmg, ~m°å~o Am{U Amgm‘Mm H$mhr ^mJ ¶m à‘wI joÌm§‘Ü ò bmJy Pmbr.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$
3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

34) Consider the following statements regarding Ryotwari System.

(a) It was introduced by Thomas Munro.

(b) The ownership rights were handed over to the peasants.

(c) Major areas of introduction include Madras, Bombay and parts of Assam.

Which of the above statements is/are correct?

1) (a)  only 2) (a) and (b) only

3) (a), (b) and (c) 4) (b) and (c) only

35) nmaer {WEQ>a‘Yrb Am{X ‘mP©~mZÀ`m `moJXmZm~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
I. Ë`m§Zr nmaer a§J ŷ‘rer AmYw{ZH$VoMr d¡{eï²> ò OmoS>br.
II. Ë`m§Zr ZmQ>H$m§‘Ü ò JmÊ`m§Zm Am{U g§JrVmbm A{YH$ ‘hÎd {Xbo.
III. nma§nm[aH$ ZmQ>H$m§Vrb AmR> Vo Xhm Ñûm`m§Mr nÕV Ë`m§Zr H$mTy>Z Q>mH$br Am{U Ho$di EH$m goQ>da ZmQ>H$ ̀ eñdrnUo

gmH$maÊ`mMo {Z`moOZ Ho$bo.
n¶m©¶r CÎmao …
1) ’$º$ I Am{U III 2) ’$º$ I Am{U III
3) ’$º$ II Am{U III 4) I, II Am{U III

35) Which of the following statements are correct regarding the contribution by Adi Marzban to

Parsi theatre?

I. He added the features of modernism to theatre.

II. He gave more prominence to songs and music in the plays.

III.  He removed the system of eight to ten scenes in the traditional plays and did planning to

successfully enact the play on just one set.

Answer option :

1) I and II only 2) I and III only

3) II and III only 4) I, II and III
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36) JXa Midir~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
I. ^maVmVyZ {~«Tie amOdQ> CbWyZ Q>mH$Ê`mgmR>r n¡go Am{U g‘W©Z C^maÊ`mgmR>r, JXa Midi H°${b’$mo{Z©̀ m‘Ü ò,

ñWbm§V[aV n§Om~tÀ`m nwT>mH$mamZo gwê$ Pmbr.
II. bmbm bOnV am` Am{U {~{nZ M§Ð nmb `m§Zr Ë`mMo Am`moOZ Ho$bo hmoVo.
III. ^maVmVrb H«$m§VrgmR>r n°åßboQ²g N>mnÊ`mgmR>r Am{U eóo Am{U ñd §̀godH$ nmR>dÊ`mgmR>r Am`moOZ H$aÊ`mV Ambo

hmoVo.
IV. 1920 À`m XeH$mV, JXa njmMr nwZa©MZm H$aÊ`mV Ambr Am{U ̂ maVr` ñdmV§Í`mn ª̀V Vmo  nj, n§Om~r Am{U erI

Apñ‘VoMm H|$Ðq~Xy åhUyZ Mmby am{hbm.
n¶m©¶r CÎmao …
1) ’$º$ I, II Am{U III 2) ’$º$  I, II Am{U IV
3) ’$º$ I, III Am{U IV 4) I, II,III Am{U IV

36) Which of the following statements about Ghadar Movement are correct?

I. The Ghadar Movement began, in California, as a coalition of expatriate Punjabis dedicated to

raising money and support to overthrow British rule from India.

II. It was organised and headed by Lala Lajpat Rai and Bipin Chandra Pal.

III. It was organised to print pamphlets and even to send arms and volunteers for a revolution in

India.

IV. In the 1920s, however, the Ghadar party was reorganised and it continued as a focal point for

Punjabi and Sikh identity until the time of Indian independence.

Answer option :

1) I, II and III only 2) I, II and IV only

3) I, III and IV only 4) I, II, III and IV

37) amOmOr ’$m°å ẁ©bm~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
(A)  `m gyÌmZwgma, ‘wpñb‘ brJ {~«{Q>em§nmgyZ ñdmV§Í`mMr ‘mJUr H$aÊ`mgmR>r H$m±J«oger hmV{‘idUr H$aob.
(~)   ‘wpñb‘ brJ Am{U H$m±J«og nj H|$ÐmV h§Jm‘r gaH$ma ñWmnZ H$aVrb.
(H$)  amOmOr ’$m°å ẁ©bmda ‘hmË‘m Jm§Yr Am{U {OZm `m§À`mV MMm© Pmbr.
(S>)  hm àñVmd OrZm§Zr ñdrH$mabm Am{U ‘hmË‘m Jm§YtOrZr ZmH$mabm.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

37) Which of the following statements are correct regarding Rajaji Formula?

(a) According to this formula, Muslim League would join hands with Congress to demand the

independence from British.

(b) Muslim League and INC would form a provisional government at the Centre.

(c) Gandhi and Jinnah held talks to discuss on Rajaji Formula.

(d) This proposal was accepted by Jinnah and rejected by Gandhi.

Answer option :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (a), (c) and (d) 4) (a), (b), (c), (d)
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38) {~«{Q>em§Zr Ho$coë¶m H$m¶Xoera gwYmaUm :
a) [gpìhc àmo{gOa H$moS >i) 1861
b) B§{S>¶Z {nZc H$moS> ii) 1858
c) amUrMm OmhraZm‘m. iii) 1859
d) ìhZm©³¶wca àog A°³Q> iv) 1880
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (i) (iii) (ii) (iv)

2) (iii) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (ii) (i) (iii)

38) Britishers has done this is Constitutional Development

a) Civil Procedure Code i) 1861

b) Indian Penal Code ii) 1858

c) Queen's Proclamation iii) 1859

d) Vernacular Press Act iv) 1880

Answer options :

(a) (b) (c) (d)

1) (i) (iii) (ii) (iv)

2) (iii) (i) (ii) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (ii) (i) (iii)

39) {Q>iH$m§À`m hmo‘ê$b brJ~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
I.   {Q>iH$m§À`m hmo‘ê$b brJne ñWm{ZH$ ^mfoV {ejUmMr ‘mJUr Ho$br.
II.  Ë`m§Zr ‘amR>r, H$ÞS> Am{U JwOamVr ^mfoV Amnë`m {dMmam§Mm àgma Ho$bm.
III.  VgoM ^m{fH$ amÁ`m§À`m {Z{‘©VrMr ‘mJUr Ho$br hmoVr.
n¶m©¶r CÎmao …
1) ’$º$ I Am{U II 2) ’$º$ I Am{U III
3) ’$º$ II Am{U III 4) I, II Am{U III

39) Which of the following statements regarding Tilak’s Home Rule League are correct?

I. It demanded education in vernacular language.

II. It propagated its ideas in Marathi, Kannada, and Gujarati.

III. It also demanded the formation of linguistic states.

Answer option :

1) I and II only 2) I and III only

3) II and  III only 4) I, II and III
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40) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
I.   ‘oOa dm°H$a `m§Mr ‘o 1800 ‘Ü ò ~S>moÚmV amOH$s` {Zdmgr åhUyZ {Z ẁº$s Pmbr.
III. noedm Xþgam ~mOramd ¶m§Zr 1802 ‘Ü ò B©ñQ> B§{S>`m H§$nZrMr V¡ZmVr ’$m¡O ñdrH$mabr.
III. Jm`H$dmS>m§Zm Ìmg XoUmè`m Aa~ ^mS>moÌr g¡Ý`mMm {S>g|~a 1801 ‘Ü ò AmZ§X amd `m§Zr nam^d Ho$bm.
n¶m©¶r CÎmao …
1) ’$º$ I 2) ’$º$  II
3) ’$º$ I Am{U II 4) I Am{U III

40) Which of the following statements is/are correct?

I. Major Walker was appointed as Political Resident in Baroda in May 1800.

II. Peshwa Baji Rao II entered subsidiary alliance with the East India Company in 1802.

III.  The Arab mercenary force that troubled the Gaikwads was finally defeated by Anand Rao in

December 1801.

Answer option :

1) I only 2) II only

3) I and II only 4) I and III only

41) Imbrb {dYmZo nhm.
a) àË¶oH$ aoImd¥ÎmmMr bm§~r 20,000 {H$.‘r. Amho.
b) {dfwdd¥Îmmda XmoZ aoImd¥Îmm‘Yrb A§Va 101.04 {H$.‘r. Amho.
c) ^maVr¶ à‘mUdoi OmJ{VH$ à‘mUdoioÀ¶m 5 Vmg 30 {‘{ZQ>m§Zr ‘mJo Amho.
darbn¡H$s H$moUVr/H$moUVo {dYmZ/{dYmZo MyH$ Amho/AmhoV ?
1) ’$º$ {dYmZ (a) 2) ’$º$ {dYmZ (b)

3) {dYmZ (a) Am{U (b) 4) {dYmZ (b) Am{U (c)

41) Observe the following statement.

a) The length of every longitude is 20,000 k.m.

b) The distance between two longitudes on equator is 101.04 km.

c) The Indian Standard Time is 5 hours 30 minutes behind the World Standard Time.

Which of the above statement/statement is/are incorrect  ?

1) Only Statement (a) 2) Only Statement (b)

3) Statement (a) and (b) 4) Statement (b) and (c)

42) {dfwdd¥Îmr¶ gXmh[aV O§Jcmg§~§Yr Imcrcn¡H$s H$moUVo d¡{eîQ>ç ~amo~a Amho?
A) AË¶§V XmQ> AmhoV. ~) dm{f©H$ nmZJi hmoVo.
H$) cmHy$S> Q>UH$ Am{U {Q>H$mD$ Amho. S>) EH$mM àH$maÀ¶m d¥jm§Mr ZgVmV.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A, H$ Am{U S>
3) ’$º$ H$ 4) ’$º$ ~ Am{U H$

42) Which of the following features of Tropical Evergreens forests is/are correct?

A) Very dense forest B) Trees shed their leaves annually

C) Timber is hard and durable D) Lack of pure stands.

Answer Options :

1) Only A 2) Only A, C and D

3) Only C 4) Only B and C
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43) Imbrb {dYmZo nhm …
a) JmoXmdar ZXrMo Imoao CÎmaoH$S>o h[aíM§Ð - ~mbmKmQ> S>m|Ja d X{jUoH$S>o gmV‘mim - AqOR>çmMo S>m|Ja ¶m‘Ü¶o Amho.
b) ^r‘m ZXrMo Imoao CÎmaog h[aíM§Ð ~mbmKmQ> S>m|Ja d X{jUog e§̂ y ‘hmXodmMo S>m|Ja ¶m‘Ü¶o Amho.
c) gmVnwS>m nd©V am§JoV AñV§̂ m S>m|Ja AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (a) Am{U {dYmZ (b) MyH$ 2) {dYmZ (a) Am{U {dYmZ (c) MyH$
3) {dYmZ (a), (b) Am{U {dYmZ (c) MyH$ 4) {dYmZ (a) MyH$,  (b) Am{U {dYmZ (c) ~amo~a

43) See the following statements:

a) Godavari river basin is situated between Harishchandra - Balaghat hills  to the north and  Satmala-

Ajanta hills to the south.

b) The valley of Bhima river is between Harishchandra Balaghat mountain in the north and Shambhu

Mahadev hill in the south.

c) There are pillars in Satpuda mountain range.

Answer options :

1) (a) and (b)  are wrong 2) (a) and (c)  are wrong

3) (a), (b)  and (c) are wrong 4) (a) wrong, (b)  and (c)  are correct

44) ^maVmVrb gdm©V OwÝ`m IS>H$m§Mr Zm|X .......... ¶oWo Amho.
1) Ymadma àXoe, H$Zm©Q>H$ 2) Aamdbr nd©Vam§Jm, amOñWmZ
3) qdÜ`Z nd©Vam§Jm, ‘Ü` àXoe 4) {edm{bH$ a|O, n§Om~

44) The oldest rocks in India are reported from

1) Dharwar region, Karnataka 2) Aravalli range, Rajasthan

3) Vindhyan range, Madhya Pradesh 4) Siwalik range, Punjab

45) noQ´mo{b`‘ g‘¥Õ Aa~r ÛrnH$ën Xoem§er g§~§{YV Imbr {Xboë`m {dYmZm§‘YyZ `mo½` n`m©̀  {ZdS>m:
I. Aa~r ÛrnH$ënmVrb Xoem§Zr noQ´mo{b`‘ CËnÞmMm dmna ‘moR>çm à‘mUmda àH$ënm§Zm {dÎmnwadR>m H$aÊ`mgmR>r Ho$bm

Amho, Ogo H$s J¥h{Z‘m©U, ‘hm‘mJ©, {d‘mZVi, {dÚmnrR>o Am{U Xyag§Mma ZoQ>dH©$.
II. Ë`m§Mo ñQ>rb, A°ë ẁ{‘{Z`‘ Am{U noQ´moHo${‘H$b H$maImZo gaH$mar AZwXmZmÀ`m ‘XVrZo OmJ{VH$ ~mOmanoR>oV ñnYm©

H$aVmV.
III. J«mhH$mon`moJr dñVy§À`m àgmam‘wio VoWrb b±S>ñHo$n AmUIr ~Xbbo Amho. ‘moR>r ‘moQ>ma dmhZo, a§JrV Q>rìhr, Am°{S>Amo

CnH$aUo Am{U ‘moQ>magm`H$b ghO CnbãY Am{U nadS>Umè`m AmhoV.
IV. {VWë`m gwna‘mH}$Q>‘Ü ò Am¾o¶ Am{e`m Am{U MrZ‘YyZ Am`mV Ho$boë`m AÞmMm ^anya gmR>m Amho.
n¶m©¶r CÎmao …
1) ’$º$ I Am{U II 2) ’$º$ I Am{U III
3) ’$º$ II Am{U III 4) I, II Am{U III
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45) Select the correct options from the statements provided below relating to the petroleum rich

Arabian Peninsula countries:

I. Arabian Peninsula countries have used petroleum revenues to finance large-scale projects,

such as housing, highways, airports, universities and telecommunications networks.

II. Their steel, aluminum and petrochemical factories compete on world markets with the help

of government subsidies.

III. The landscape has been further changed by the diffusion of consumer goods. Large motor

vehicles, color TVs, audio equipment and motorcycles are readily available and affordable.

IV. Supermarkets there are stocked with food imported from SE Asia and China.

Answer options :

1) I, II and IV 2) I and III

3) I and IV 4) I, II and III

46) ImbrbnoH$s AMyH$ OmoS>çm emoYm:
Am§Vaamḯ>r` {d‘mZVimMo Zmd Am§Vaamḯ>r` {d‘mZVimMo ñWmZ
(A) N>ÌnVr {edmOr Am§Vaamï´>r` {d‘mZVi ‘w§~B©, ‘hmamï´>
(~) Ho$ånoJm¡S>m Am§Vaamï´>r` {d‘mZVi ~§Jbmoa, H$Zm©Q>H$
(H$) Mm¡Yar MaU qgJ Am§Vaamï´>r` {d‘mZVi bIZm¡, CÎma àXoe
(S>) lr Jwé am‘ Xmg Or B§Q>aZ°eZb A‘¥Vga, n§Om~
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3) (~), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

46) International Airport Name          International Airport Location

(a) Chhatrapati Shivaji International Airport Mumbai, Maharashtra

(b) Kempegowda International Airport Bangalore, Karnataka

(c) Chaudhary Charan Singh International Airport Lucknow, Uttar Pradesh

(d) Sri Guru Ram Das Jee International Airport Amritsar, Punjab

From the above pairs which pairs are correct?

Answer Options  :

1) (a) and (b) only 2) (a)  and (c) only

3) (b), (c) and (d) 4) (a), (b), (c), (d)

47) amÁ` Am{U O‘mVr Imbr Z‘yX Ho$ë`m AmhoV. Ë¶mn¡H$s H$moUVr OmoS>r ~amo~a Owibobr Zmhr?
1) Amgm‘  : {X‘mgm, am~m, MH$‘m, bmIoa, Imgr, qgQ>|J, Hw$H$s, ndB©
2) N>ÎmrgJS>  : ZmJ{g`m, {~`ma, Im|S>, AmJ[a`m, ^Å«>m, ‘mdmgr, ¡̂Zm
3) PmaI§S>  : Jm|S>, {~ahmoa, gmda, ‘w§S>m, g§Wmb, I¡am, ŷ‘Or
4) ‘{Unya  : WS>m¡, Eo‘mob, ‘a‘, nm`Vo, {Mê$, nwa‘, Hw$H$s, ‘moÝgm§J

47) The State and Tribes are mentioned below. Which pair is not correct?

1) Assam : Dimasa, Raba, Chakma, Lakher, Khasi, Synteng, Kuki, Pawai

2) Chhattisgarh : Nagasia, Biar, Khond, Agariya, Bhattra, Mawasi, Bhaina

3) Jharkhand : Gonds, Birhors, Savar, Mundas, Santhals, Khaira, Bhumji

4) Manipur : Thadou, Aimol, Maram, Paite, Chiru, Purum, Kuki, Monsang
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48) ^maVmVrb gdm©V ‘moR>m {Xdg d gdm©V bhmZ {Xdg ¶mVrb ’$aH$ …
A) X{jU ^mJmVrb H$Ý¶mHw$‘mar Odi gw‘mao 45 {‘{ZQ>m§Mm.
~) CÎma ^maVmVrb boh bS>mI Odi 4 Vmgm§Mm Amho.
AemàH$mao doioV ’$aH$ AgÊ¶mMo H$maU H$m¶ Amho ?
1) H$Ý¶mHw$‘mar {dfwdd¥Îmm Odi Va boh {dfwdd¥ÎmmnmgyZ Xÿa pñWa Amho.
2) H$Ý¶mHw$‘marMo ñWmZ CîU H${Q>~§YmV Va bohMo ñWmZ g‘{eVmoîU H${Q>~§YmV Amho.
3) ^maVmÀ¶m X{jUoH$S>rb ^mJmV {XZ‘mZ d amÌr‘mZmÀ¶m H$mbmdYrVrb ’$aH$ H$‘r AgVmo Va CÎmaoH$S>rb ^mJmV

Vmo OmñV hmoV OmVmo.
4) n¥ÏdrÀ¶m AmgmZo n¥ÏdrÀ¶m H$joÀ¶m nmVirer 660 30' Mm H$moZ Ho$bm Agë¶m‘wio {XZ‘mZmMm Am{U amÌr‘mZmMm

H$mbmdYr {dfwdd¥ÎmmH$Sy>Z Y«wdmH$S>o dmT>V OmVmo.
48) The periodical difference between the shortest day and the longest day in India is given below :

a) In south near Kanyakumari it is about 45 minutes.

b) In north near Leh in Ladakh it is about 4 hours.

Why does this time difference take place?

1) Kanyakumari is situated near the equator and Leh is far away from the equator.

2) Location of Kanyakumari is in the tropical hemisphere while Leh is located in the temperate

hemisphere.

3) The periodical difference between the day time and night time is minimum in South India

while it goes on increasing towards North India.

4) The axis of the Earth is inclined to the plane of the ecliptic at an angle of 660 30' giving rise to

increasing length of day and night from the equator to the poles.

49) ‘hmamï´>mÀ`m 2021-22 À`m Am{W©H$ gd}jUmZwgma, Joë`m ghm XeH$m§‘Ü ò H$moUË`m nrH$ joÌm‘Ü ò KQ> hmoV Amho?
1) H$S>YmÝ ò 2) V¥UYmÝ ò
3) Vob{~`m 4) H$mnyg

49 As per the Economic Survey of Maharashtra 2021-22, which crop area has decreasing trends

over the last six decades ?

1) Pulses 2) Cereals

3} Oilseeds 4) Cotton

50) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
ñV§̂  -1 ñV§̂  -2

1. J{‘V, {^„, Ymo{S>`m, H$mWmoS>r  A.  nú`m§À`m AZ¡g{J©H$ ‘¥Ë ỳg H$maUr ŷV Amgm‘‘Yrb
      {R>H$mU

2. OqQ>Jm ~. JwOamVÀ`m O‘mVr
3. H§$da Vmb H$. Ho$ai-Vm{‘iZmSy>‘Yrb ~m`moñ’$sAa [aPìh©
4. AJñË`‘mbm S>. {~hma‘Yrb am‘ga {R>H$mU
n¶m©¶r CÎmao …

1 2 3 4

1) a b d c

2) a b d a

3) b a d c

4) b d a c
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50) Arrange the correct sequence of Column-I against Column-II

Column-I Column-II

1. Gamit, Bhil, Dhodia, Kathodi a. Place in Assam with unusual bird deaths

2. Jatinga b. Tribes of Gujarat

3. Kanwar Tal c. Biosphere Reserve in Kerala-Tamil Nadu

4. Agasthyamala d. Ramsar site in Bihar

Answer Options :

1 2 3 4

1) a b d c

2) a b d a

3) b a d c

4) b d a c

51) ‘hmgmJam§~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ‘hmgmJamg§X^m©Vrb  g§emoYZ gmYmaUnUo nmM à‘wI ‘hmgmJam§Mo ApñVËd AmoiIVo: n°{g{’$H$, AQ>bm§{Q>H$, qhXr,

AmpŠQ©>H$ Am{U X{jUr ‘hmgmJa
~) qhXr ‘hmgmJa OJmÀ`m EHy$U ‘hmgmJa joÌmÀ`m A§XmOo EH$ n§M‘m§e ^mJ ì`mnVmo
H$) n°{g{’$H$ ‘hmgmJamZo OJmÀ`m n¥ð>^mJmMm EH$ V¥Vr`m§e ^mJ ì`mnbm Amho Am{U Vmo  joÌ’$i Am{U AmH$ma‘mZ

XmoÝhr‘Ü ò gdm©V ‘moR>m ‘hmgmJa Amho.
S>) qhXr ‘hmgmJa hm gdm©V bhmZ ‘hmgmJa Amho
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3)  (A), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

51) Which of the following statements about oceans are correct?

a) Oceanic research generally recognizes the existence of five major oceans: the Pacific, Atlantic,

Indian, Arctic and Southern oceans

b) Indian Ocean covers approximately one-fifth of the total ocean area of the world

c) Pacific ocean occupies about a third of the surface of the globe and it is the largest ocean in

both surface area and volume

d) Indian Ocean is the smallest ocean

Answer option :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (a), (c) and (d) 4) (a), (b), (c), (d)

52) {nH$m§~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ~mOarbm 30-50 go‘r nmD$g bmJVmo Am{U Vmo Vob§JUmÀ`m hdm‘mZmbm AZwHy$b AgVmo
~) H$mngmgmR>r 50-75 g|Q>r‘rQ>a nmD$g Am{U 21-30 {S>J«r gopëgAg Vmn‘mZ Amdûm`H$ Amho Am{U ho

‘hmamï´>mÀ`m hdm‘mZmg AZwHy$b Amho.
H$) V§~mIybm Mm§Jbm {ZMam hmoUmam dmbwH$m‘` {MH$U‘mVr Amdûm`H$ Amho Am{U ho JwOamVÀ`m hdm‘mZ n[apñWVrbm

AZwHy$b Amho
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3) (H$) ’$º$ 4) (A), (~) Am{U (H$)
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52) Which of the following statements are correct regarding the Crops?

a) Bajra requires 30-50 cm of rainfall and it suits the weather conditions of Gujarat

b) Cotton requires 50-75 cm of rainfall and 21-30° C of temperature and this suits to the weather

of Gujarat.

c) Tobacco needs well-drained sandy loam and this also suits weather conditions of Gujarat

Answer Options :

1) (a) and  (b)  only 2) (a) and (c)

3)  (c) only 4) (a), (b) and (c)

53) A§X‘mZ Am{U {ZH$mo~ma ~oQ>m§~m~V H$moUVr {dYmZo ~amo~a AmhoV?
A) òWo {dfwdd¥Îmr` hdm‘mZ Amho.
~) ^maVmVrb ho EH$‘od {R>H$mU Amho H$s {OWo Ádmbm‘wIr Amho.
H$) ^maVmVrb ho EH$‘od {R>H$mU Amho  H$s {OWo àdmi/H$moab Vi/~oS> AmT>iVmo.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$
3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

53) Which statements are correct regarding Andaman & Nikobar islands?

a) It enjoys equatorial climate.

b) This is the only place in India where volcano is located.

c) This is the only place in India where coral bed is found.

Answer Options :

1) (a)  only 2) (a) and (b) only

3) (a), (b) and (c) 4) (b) and (c) only

54) JìhmÀ`m g§X^m©V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) Jhÿ ho OJmVrb gdm©{YH$ dmnaë`m OmUmè`m  V¥UYmÝ`m§n¡H$s EH$ Amho
~) 30 Vo 90 go‘r Xaå`mZ nmD$g Agbobm g‘erVmoîU àXoe hm Jhÿ {nH$mgmR>r CÎm‘ àH$mao AZwHy$b Amho
H$) JìhmÀ`m XmÊ`m‘Ü ò 12 Q> o̧$ nmUr, 70 Q> o̧$ H$~m}XHo$ Am{U 12 Q> o̧$ à{WZo AgVmV.
S>) ^maV hm OJmVrb gdm©V ‘moR>m Jhÿ CËnmXH$ Xoe Amho
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3)  (A), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

54) Which of the following statements are correct regarding wheat?

a) Wheat is one of the world’s most commonly consumed cereal grains

b) Wheat is best adapted to temperate regions with rainfall between 30 and 90 cm

c) The wheat kernel contains 12 percent water, 70 percent carbohydrates and 12 percent protein

d) India is the largest wheat producing country in the world

Answer Options  :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (a), (c) and (d) 4) (a), (b), (c), (d)
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55) ^maVmVrb {H$ZmanÅ>r~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ^maVr` {H$ZmanÅ>r 9 amÁ ò Am{U 4 H|$Ðem{gV àXoem§Zm ñne© H$aVo
~) nyd© {H$ZmanÅ>r‘Ü ò nyd© KmQ> Am{U ~§JmbÀ`m CngmJamMm g‘mdoe hmoVmo Am{U CÎmaoH$S>rb J§Jm S>oëQ>m Vo X{jUobm

H$Ý`mHw$‘marn ª̀V Vr {dñVmabobr Amho.
H$) n{l²M‘ {H$ZmanÅ>r H$ÀN>À`m aUnmgyZ X{jUobm H$Ý`mHw$‘marn ª̀V ngabobr Amho.
S>) n{l²M‘ {H$ZmanÅ>r XmoZ ^mJmV {d^mJbr Amho, H$moH$U {H$ZmanÅ>r, Am§Y« {H$ZmanÅ>r
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3)  (~) Am{U (S>$) 4) (A), (~), (H$), (S>)

55) Which of the following statements are correct regarding Coastlines in India?

a) Indian coastline touches 9 states and 4 union territories

b) The Eastern coastline includes Eastern Ghats and the Bay of Bengal and extends from Ganga

Delta in the North to Kanyakumari in the South.

c) The Western coastline extends from Rann of Kutch to Kanyakumari in the South.

d) The Western coastline is divided into two parts, Konkan coastline, Andhra coastline

Answer Options  :

1) (a) and (b) only 2) (a)  and (c) only

3) (b)  and (d) 4) (a), (b), (c), (d)

56) IoS>oJmdmV eoV‘Owam§Zm {‘iUmao H$‘r doVZ Am{U J[a~r ¶mg H$maUr ŷV AmUIr EH$ ‘hÎdmMm KQ>H$ åhUOo .......
1) H$‘r l‘ H$m ©̀j‘Vm 2) d¡ÚH$s` ‘XVrMm A^md
3) ‘Oya nwadR>çmMm A^md 4) {~Ja eoVr ì`dgm`m§Mr H$‘VaVm

56) .............. in village areas is another important factor for the low wages and poor economic condition

of the farm labourers.

1) Low labour efficiency 2) Lack of medical aid

3) Lack of labour supply 4) Paucity of non-agricultural occupations

57) ^maV B§Q>a’o$g ’$m°a ‘Zr (^r‘) A°n ~m~V Imcrc {dYmZm§Mm {dMma H$am :
a) gXa A°n A°ÝS´>m°BS> Am{U Am`AmoEg ¶m XmoÝhr§da CnbãY Amho.
b) ẁ{Z’$mB©S> no‘|Q> B§Q>a’o$gÀ¶m ‘mÜ¶‘mVyZ n¡em§Mr XodmUKodmU H$aÊ¶mg gXa A°n Cn¶wº$ Amho.
darcn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b)

3) (a) Am{U (b) XmoÝhrhr 4) ¶mn¡H$s Zmhr
57) Consider the following statements regarding BHIM App :

a) This app is available on both Android and IoS platform

b) This app is useful in the monetary transactions through Unified Payment Interface

Which of the following statement/s is/are true?

1) Only (a) 2) Only (b)

3) Both (a) and (b) 4) None of these
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58)  gd©g‘mdoeH$ dmT>r~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
A) gd©g‘mdoeH$ dmT>r‘Ü ò àË òH$mMm Am{W©H$ dJ© {dMma Z H$aVm dmT>rMm g‘mdoe hmoVmo
~) gd©g‘mdoeH$ dmT>rMm Ñï>rH$moZ AënH$mbrZ Ñï>rH$moZmVyZ KoVbm OmVmo
H$) gd©g‘mdoeH$ dmT> CËnmXH$ amoOJmamnojm CËnÞ {dVaUmda bj H|${ÐV H$aVo
n¶m©¶r CÎmao :
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

58) Which of the following statements is/are correct regarding Inclusive Growth?

a) Inclusive Growth includes everyone in growth regardless of their economic class

b) Inclusive growth approach takes on short term perspective

c) Inclusive growth focuses on income distribution rather than productive employment

Answer option :

1) (a) and  (b)  only 2) (a) and (c)

3) (b) and (c) 4) (a), (b) and (c)

59) gmd©O{ZH$ joÌmVrb gwYmaUm Am{U {ZJwªVdUwH$s~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) {ZJwªVdUwH$sMr n{hbr nÕV hr {ZdS>H$ PSU ‘Yrb g‘^mJm§Mr {dH«$s, Aer hmoVr
~) {ZJwªVdUwH$sMr Xwgar nÕV åhUOo PSU Mr ImOJr joÌmVrb H§$nZrbm {dH«$s
H$) n{hbr nÕV 1991-92 Vo 1998-99 `m H$mbmdYrV dmnabr Jobr
S>) Xwgar nÕV 2000-01 Vo 2010-11 `m H$mbmdYrV dmnabr Jobr.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (~) Am{U (H$)  ’$º$
3) (~), (H$)  Am{U (S>) 4) (A), (~), (H$), (S>)

59) Which of the following statements are correct regarding the Public Sector reforms and

disinvestment?

a) The first method of disinvestment was selling of shares in select PSUs

b) The second method of disinvestment was sale of PSU to a private sector company

c) The first method was used over the period 1991-92 to 1998-99

d) The second method was used over the period 2000-01 to 2010-11

Answer Options  :

1) (a) and (b) only 2) (b)  and (c) only

3) (b), (c) and (d) 4) (a), (b), (c), (d)

60) ^maVmVrc Jar~ cmoH$m§Zm gm‘m{OH$ gwajm XoÊ¶mgmR>r g§nyU© J«m‘rU amoOJma ¶moOZoMm àma§̂  H$aÊ¶mV Amcm hmoVm. ¶m
¶moOZoMo Imcrcn¡H$s H$moUVo C{Ôï> hmoVo ?
1) H$m‘mÀ¶m ~Xë¶mV YmÝ¶ nwa{dUo.
2) J«m‘rU ^mJmVrc AÞgwajm gwYmaÊ¶mgmR>r doVZ amoOJma XoUo.
3) amoOJmamMm h¸$ hm ‘yc ŷV h¸$ ~ZdUo.
4) ŷ{‘hrZ ‘Owam§Zm amoOJma XoUo.
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60) What was the objective of the Grameen Rojgar Yojana which was initiated as a part of the

programme towards providing social safety to poor in India ?

1) To provide food for work.

2) To provide wage employment in rural areas to improve food security.

3) To make 'right to work' as a fundamental right.

4) To provide employment for landless labourers.

61) RBI Ûmao ñQ>[abm¶PoeZ hr g§km H$moUË¶m g§X^m©V dmnabr OmVo.
1) AW©ì`dñWoVrb Cƒ EZnrEMm à^md Zmhrgm H$aÊ`mgmR>rMo Am°naoeZ.
2) AW©ì`dñWoVrb naH$s` Jw§VdUwH$sMm OmñV àdmh amoIÊ`mgmR>rMo Am°naoeZ.
3)  Mmby ImË`mVrb Cƒ VyQ> {Z §̀{ÌV H$aÊ`mgmR>rMo Am°naoeZ.
4) AW©ì`dñWoVrb Cƒ {dÎmr` VwQ>rÀ`m à^mdmda {Z §̀ÌU R>odÊ`mgmR>rMo Am°naoeZ.

61) The term Sterilization by RBI refers to ........ .

1) Operation to neutralize effect of high NPAs in the economy.

2) Operation to check excess inflow of foreign investment in the economy.

3) Operation to control high current account deficit.

4) Operation to control effect of high fiscal deficit in the economy.

62) XrZX¶mi A§Ë¶moX¶ ¶moOZm amï´>r¶ J«m‘rU OrdZmoÞVr A{^¶mZm§VJ©V H|$Ð d amÁ¶mMm IMm©Mm dmQ>m {H$Vr ?
1) 75 … 25 2) 60 … 40
3) 80 … 20 4) 70 … 30

62) What is the cost share of center and state under Deendayal Antyodaya Yojana - National Rural

Development Mission?

1) 75 : 25 2) 60 : 40

3) 80 : 20 4) 70 : 30

63) eml²dV {dH$mg C{Ôï>o (SDGs) À`m g§X^m©V, Imbrbn¡H$s H$moUVr OmoS>r AMyH$ OwiV Zmhr ?
H«$‘m§H$ Ü ò̀
1) 2 eyÝ` ŷH$
2) 4 XO}Xma {ejU
3) 13 hdm‘mZ {H«$`m
4) 15 b¢{JH$ g‘mZVm

63) With reference to Sustainable Development Goals (SDGs), which of the following is not matched

correctly ?

Number Goal

1) 2 Zero Hunger

2) 4 Quality Education

3) 13 Climate Action

4) 15 Gender Equality
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64) ^maVmVrb bmoH$g§»¶oMr JwUmË‘H$ d¡{eîQ>ço d eharH$aUmg§X^m©V H$moUVo {dYmZ ~amo~a Zmhr?

1) XaS>moB© CËnÞmVrb dmT> d eharH$aU ¶m§Mm gH$mamË‘H$ g§~§Y Amho.
2) eharH$aU d amoOJmadmT> ¶m§À¶mV ghg§~§Y Zmhr.
3) eharH$aUmgmo~V bmoH$m§À¶m amhUr‘mZmÀ¶m XOm©V dmT> hmoVo.
4) eharH$aU d Xm[aÐçaofoImbrb bmoH$g§»¶m ¶m§À¶mV ZH$mamË‘H$ g§~§Y Amho.

64) Which of the following  statements is not  correct regarding the qualitative characteristics of

India's population and urbanisation ?

1)  There is positive co-relation between per capital income and urbanisation.

2)  There is no co-relation between urbanisation and employment.

3)  There is increase in standard of living with urbanisation.

4) There is negative relationship between urbanisation and population below poverty line.

65) Imcrcn¡H$s H$moUVo dm³¶/dm³¶o ¶mo½¶ Amho/AmhoV ?
A) coImnarjH$ EImÚm g§ñWoMm àË¶oH$ ì¶dhma (Transaction) Vnmgy eH$V Zmhr.
~)  coImnarjU nwamdm hm A§{V‘/{ZUm©¶H$ ñdê$nmMm ZgVmo.
H$) coImnarjH$ Vkmda {dídmg R>odyZ AgVmo.
n¶m©¶r CÎmao :
1) ’$º$ A 2) ~ Am{U H$
3) ’$º$ H$ 4) A, ~ Am{U H$

65) Which of the following statement/s is/are correct ?

a) An Auditor cannot check each and every transaction.

b) Audit evidence is not conclusive in nature.

c) An Auditor has to rely upon experts.

Answer Options :

1) Only a 2) b and c

3) Only c 4) a, b and c

66)  `mXr-I Am{U `mXr -II Owidm Am{U `mo½` CÎma {ZdS>m:
`mXr-I (g{‘Vr) `mXr-II (AÜ`j)

A) gmd©O{ZH$ joÌmVrb CÚmoJm§‘Yrb g‘^mJm§Mr {ZJwªVdUyH$ 1. lr amOm Mo„²̀ m
~) Am¡Úmo{JH$ AmOma 2. lr Am|H$ma Jmoñdm‘r
H$) H$a gwYmaUm 3. lr Ama. EZ. ‘ëhmoÌm
S>) {d‘m joÌmVrb gwYmaUm 4. lr gr. a§JamOZ
n¶m©¶r CÎmao …

a b c d

1) 4 1 3 2

2) 1 2 4 3

3) 4 3 1 2

4) 4 2 1 3
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66) Match list-I and list –II and select the correct answer:

List-I (Committees) List-II (Chaired by)

a. Disinvestment of shares in public sector enterprises 1. Shri Raja Chelliah

b. Industrial Sickness 2. Shri Omkar Goswami

c. Tax Reforms 3. Shri R. N. Malhotra

d. Reforms in Insurance sector 4. Shri C. Rangarajan

Answer Options :

a b c d

1) 4 1 3 2

2) 1 2 4 3

3) 4 3 1 2

4) 4 2 1 3

67) Imcrcn¡H$s H$moUVm EH$ Cnm` ^mddmT> {Z §̀{ÌV H$aÊ`mMm ""_m¡{ÐH$ Cnm`'' Amho ?
1) gaH$mar IMm©V H$nmV 2) H$amÀ`m XamV dmT>
3) gaH$mar H$Om©da {Z §̀ÌU 4) Iwë`m ~mOmamV gaH$mar amo»`m§Mr {dH«$s

67) Which of the following is Monetory measures of Inflation control ?

1) cuts in Government spending 2) Increase in tax rates

3) Control of Government Debt 4) Sale of government bonds in the open market

68) Imbrbn¡H$s H$moUVr gwYmaUm dm°qe½Q>ZÀ`m gh‘VrZo H$aÊ`mV Ambr?
A) ^m§S>dbemhrbm àmoËgmhZ ~) AW©ì`dñWm CKS>Uo
H$) naH$s` Jw§VdUwH$sbm àmoËgmhZ XoUo S>) WTO Mr ñWmnZm
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3)  (A), (H$) Am{U (S>$) 4) (A), (~), (H$), (S>)

68) Which of the following reforms were undertaken under Washington consensus?

a) Promotion Capitalism b) Opening of economies

c) Promoting Foreign Investment d) Establishment of WTO

Answer Options  :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (a), (c) and (d) 4) (a), (b), (c), (d)

69) OnmZ‘Ü¶o àmW{‘H$ joÌmA§VJ©V ‘mgo‘mar hm à‘wI Am{W©H$ CnH«$‘ Amho. ^maVmbm {dñVrU© g‘wÐ {H$Zmam bm^bobm
Amho. na§Vw ‘Ëñ¶ì¶dgm¶mVyZ {‘iUmao CËnmXZ ‘mÌ H$mhrgo H$‘rM Amho. ¶m joÌmÀ¶m ‘¶m©{XV d¥ÕrMr H$moUVr XmoZ
H$maUo AmhoV?
a) godm joÌmMm g§W d¥Õr Xa        b) ‘mgo H$[aVm ñdXoemVrb ‘¶m©{XV ‘mJUr
c) ì¶mnma, dmhVyH$ Am{U g§XoedhZ BË`mXtMm g§W d¥ÕrXa    d) ‘mgo nH$S>Ê¶mMr nma§nm[aH$ nÕVr
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (b) Am{U (c)

3) (c) Am{U (d) 4) (b) Am{U (d)
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69) In Japan, fishing is a major economic activity in the primary sector. India has a vast sea coast but

the output of fisheries is rather small. Which two reasons for the limited growth of this sector?

a) Slow growth rate of services sector

b) Domestic demand for fish is limited in the country

c) Steady growth of trade, transport and communication

d) Traditional methods of catching the fish

Answer Options :

1) (a) and (c) 2) (b) and (c)

3) (c) and (d) 4) (b) and (d)

70) Zm°Z-na’$m°{‘ªJ A°goQ²g H$‘r H$aÊ`mgmR>r, ^maV gaH$maZo 4-Ama YmoaU Adb§~bo, 4 -Ama gy{MV .......... H$aVmV
1) ‘mÝ`Vm, R>amd, nwZ^mªS>dbrH$aU Am{U gwYmaUm
2) nwZ{d©Îm, gwYmaUm, nwZ^mªS>dbrH$aU Am{U nwZì`m©»`m
3) AmoiI, Ahdmb, {Z~ªY Am{U gwYmaUm
4) AmoiI, nwZI©aoXr, gwYmaUm Am{U àñVwVrH$aU

70) To reduce the Non-Performing Assets, Government of India followed 4R strategy, the 4Rs Indicate

1) Recognition, Resolution, Recapitalisation and Reforms

2) Refinancing, Reforms, Recapitalisation and Redefining

3) Recognition, Reporting, Restrictions and Reforms

4) Recognition, Repurchase, Reforms and Rendering

71) EH$m nXmWm©À`m Vmn‘mZmV 50 {S>J«r gopëgAg ~Xb hmoVmo, Va Ho$pëdZ ñHo$bda Vmn‘mZmV hmoUmam hm ~Xb ......
Agob:
1) 70K 2) 20K

3) 50K 4) 323K

71) The change in temperature of body is 50°C, then the change in temperature on kelvin scale will

be:

1) 70K 2) 20K

3) 50K 4) 323K

72) ‘g©amBqOJ à{H«$ ògmR>r H$nS>o .........
1) 10 Vo 15 Q> o̧$ H$m°pñQ>H$ gmoS>m ÐmdUmV 2 Vo 3 {‘{ZQ>o R>odVmV.
2) 15 Vo 20 Q> o̧$ H$m°pñQ>H$ gmoS>m gmoë ẁeZ‘Ü ò 1/2 Vo 2 {‘{ZQ>o  R>odVmV.
3) 18 Vo 22 Q> o̧$ H$m°pñQ>H$ gmoS>mÀ`m ÐmdUmV 1 Vo 3 {‘{ZQ>o R>odVmV.
4) 20 Vo 25 Q> o̧$ H$m°pñQ>H$ gmoS>m ÐmdUmV 2 Vo 4 {‘{ZQ>  R>odVmV.

72) For mercerising process clothes are ..........

1) Put in 10 to 15 percent caustic soda solution for 2 to 3 minutes.

2) Put in 15 to 20 percent caustic soda solution for 1/2 to 2 minutes.

3) Put in 18 to 22 percent caustic soda solution for 1 to 3 minutes.

4) Put in 20 to 25 percent caustic soda solution for 2 to 4 minutes.
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73) ãbrqMJ nmdS>a‘Ü ò Imbrb Jmoï>tMm g‘mdoe hmoVmo:
1) H°$pëe`‘ H$m~m}ZoQ> 2) H°$pëe`‘ hm`nmoŠbmoamBQ>
3) H°$pëe`‘ gë’o$Q> 4) ‘°¾o{e`‘ H$m~m}ZoQ>

73) Bleaching powder consists of :

1) Calcium Carbonate 2) Calcium Hypochlorite

3) Calcium Sulfate 4) Magnesium Carbonate

74) AëH$mohmob-AmYm[aV h±S> g°{ZQ>m`Pg©‘Ü ò ...... Agy eH$Vo.
(A) BWoZm°b (~) Isopropanol

(H$)  n-propanol (S>) methanol

n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (~), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

74) Alcohol-based hand sanitizers can contain .......

a) Ethanol b) Isopropanol

c) n-propanol d) methanol

Answer option :

1) (a) and (b) only 2) (a)  and (c) only

3) (b), (c) and (d) 4) (a), (b), (c), (d)

75) eoVrVyZ hmoUmè¶m hdoÀ¶m àXÿfUmMo ‘w»¶ ñdê$n H$moUVo Amho ?
1) gë’$a S>m¶ Am°³gmBS> 2) A‘mo{Z¶m
3) {‘WoZ 4) H$m~©Z ‘moZm°ŠgmB©S>

75) What is the main form of air pollution by agriculture ?

1) Sulphur dioxide 2) Ammonia

3) Methane 4) Carbon monoxide

76) Imbrbn¡H$s H$moUVo PmS> à{V hoŠQ>a à{V df© 50 {H$bmo Zm`Q´moOZMo `moJXmZ XoVo?
1) ~m ŷi Am°[aŠ ẁ{b’$m°{‘©g 2) H°$gwA[aZm B{¹${g{Q>’$mo{b`m
3) Ficus religiosa 4) Azadirachta indica

76) Which of the following tree contribute upto 50 kg Nitrogen per hectare per year ?

1) Acacia auriculiformis 2) Casuarina equisetifolia

3) Ficus religiosa 4) Azadirachta indica

77) Imbrbn¡H$s H$moUVo Am¡fY newYZmÀ`m CnMmamV dmnabo OmVo,  nU Ë¶mM J¡admna X{jU Am{e`mVrb {JYmS>m§Mr g§»`m
H$‘r hmoÊ`mÀ`m H$maUmer g§~§{YV Amho?
1) ‘obmopŠgH°$‘ 2) B~wàmo’o$Z
3) S>m`Šbmo’o$ZmH$ 4) H$màm}’o$Z

77) Which of the following drugs used in the treatment of livestock, has been linked to the cause of

the collapse of vultures population throughout South Asia?

1) Meloxicam 2) Ibuprofen

3) Diclofenac 4) Carprofen
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78) ganQ>Umao àmUr Am{U gñVZ àmUr `m§À`mVrb Xwdm åhUyZ Imbrbn¡H$s H$moUË`m àmÊ`mbm {’$bmoOoZo{Q>H$ ‘hÎd Amho?
1) H$m§Jmê$ 2) Echidna

3) Sorex 4) ggm
78) Which of the following animals has phylogenetic significance, as it serves a link between reptiles

and mammals ?

1) Kangaroo 2) Echidna

3) Sorex 4) Rabbit

79) boe‘°{Z`mMm boßQ>mo‘moZmS> àH$ma `m‘Ü ò AmT>iVmo :
1) ‘mUyg 2) g±S> âbm`
3) Ëgo-Ëgo âbm` 4) ~oS> ~J

79) Leptomonad form of Leishmania is found in :

1) man 2) sand fly

3) tse-tse fly 4) bed bug

80) EH$m ‘wbmMr dmT> ‘§Xmdbr AgyZ Vmo MmbÊ`mg Ag‘W© ~Zbm AgyZ, Ë¶mÀ¶m g§nyU© earamda OI‘m Pmë`m AmhoV.
Ë¶mbm XoÊ¶mV ¶oUmè¶m Amhmambm nyaH$ åhUyZ Imbrbn¡H$s H$moUË`m nmofH$ VËdm§Mr {e’$mag H$amdr?
1) XyY 2) A§S>çmVrb {ndi ~bH$
3) H$S>YmÝ ò 4) qb~ydJu` ’$io

80) A child has presented with growth retardation, inability to walk and bruises all over the body.

Which of the following nutrients should be recommended as a supplement to the diet?

1) Milk 2) Egg yolk

3) Pulses 4) Citrus fruits

81) Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV?
A) EbB©S>r {Xì`m§‘Ü ò nmam ZgVmo
~) EbB©S>r {Xdo H$Yrhr AMmZH$ {ZH$m‘r hmoV ZmhrV, na§Vw AmCQ>nwQ>‘Ü ò hiyhiy KQ> hmoVo
H$) EbB©S>r {Xì`m§À`m VwbZoV grE’$Eb {Xdo A{YH$ D$Om©-H$m ©̀j‘ AgVmV
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$)
3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

81) Which of the following statements are incorrect?

a) LED lamps do not contain mercury

b) LED lights never fail abruptly, but there is a gradual decrease in the output

c) CFL lamps are more energy-efficient as compared to the LED lamps

Answer Options :

1) (a) and  (b)  only 2) (a) and (c)

3) (b) and (c) 4) (a), (b) and (c)
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82) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) H$S>YmÝ`m§‘Ü ò ^anya à{WZo AgVmV 2) XyY ho pìhQ>°{‘Z E Mm Mm§Jbm òmoV Amho
3) V¥UYmÝ¶m‘Ü¶o H$~m}XH$m§Mo à‘mU IynM H$‘r AgVo. 4) ^mOrnmbm hm I{ZOm§Mm g‘¥Õ òmoV Amho

82) Which one of the following statements is incorrect?

1) Pulses are rich in protein

2) Milk is a rich source of vitamin A

3) Cereals are very poor source of carbohydrates

4) Vegetables are rich source of Minerals

83) ~{hd©H«$ Am{U Am§Vd©H«$ q^Jm§À`m g§X^m©V, Imbrbn¡H$s H$moUVr dmŠ ò ~amo~a AmhoV?
A) Mî‘m dmMÊ`mgmR>r ~{hd©H«$ q^Jm§Mm dmna Ho$bm OmVmo
~) ‘m`mo{n`m ZmdmÀ`m Ñï>rMm Xmof Xya H$aÊ`mgmR>r Mîå`m§‘Ü ò Am§Vd©H«$ boÝgMm dmna Ho$bm OmVmo
H$) Ñï>rXmof Xya H$aÊ`mgmR>r Mîå`m§‘Ü ò ~{hd©H«$ boÝgMm dmna Ho$bm OmVmo Á`mbm ‘m`mo{n`m åhUVmV
S>)  Am§Vd©H«$ q^Jm§Mm dmna {dembZ q^J åhUyZ Ho$bm OmVmo
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (S>)
3) (~) Am{U (H$) 4) (A), (~) Am{U (S>)

83) With regard to convex and concave lenses, which of the following sentences are correct?

a) Convex lenses are used in reading spectacles

b) Concave lenses are used in spectacles to correct the defect of vision called myopia

c) Convex lenses are used in spectacles to correct the defect of vision called myopia

d) Concave lenses are used as magnifying glasses

Answer Options :

1) (a) and  (b)  only 2) (a) and (d)

3) (b) and (c) 4) (a), (b) and (d)

84) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
A) j-{H$aU - {d‘mZVimdarb ~°J ñH°$Z H$aÊ`mgmR>r dmnabm OmVmo
~) J°‘m {H$aU - H$H©$amoJ Am{U Q>çy‘aÀ`m CnMmam§gmR>r ao{S>AmoWoanr‘Ü ò dmnabm OmVmo
H$) ao{S>Amo bhar - ZmB©Q> pìhOZ H°$‘oè`m§‘Ü ò dmnaë`m OmVmV
S>) Ñûm`‘mZ bmQ>m - AmnU OJ nmhÿ eH$Vmo
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A) Am{U (S>$) 4) (A), (~), (H$), (S>)

84) Which of the following pairs are correctly matched ?

a) X-rays – Used to scan bags in airports

b) Gamma rays – Used in radiotherapy for treatment of cancer and Tumor

c) Radio waves – Used in Night vision cameras

d) Visible Waves – We can see around the world

Answer option :

1) (a) and (b) only 2) (a), (b)  and (c)

3) (b), (c) and (d) 4) (a), (b), (c), (d)
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85) OmoS>çm cmdm.
    'A'     'B'

a) Zrbh[aV e¡dmb i) Amñgrb°Q>mo[a`m
b) {hado e¡dmb ii) E§Q>oamo‘m’$m©
c) {ndiga e¡dmb iii) gmaJmg‘
d) bmb e¡dmb iv) J«°grb°[a`m
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iii) (iv) (ii) (i)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iii) (iv)

85) Match the pairs.

    'A'     'B'

a) Blue-green algae i) Oscillatoria

b) Green Algae ii) Enteromorpha

c) Yellowish Algae iii) Sargassum

d) Red Algae iv) Gracilaria

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iii) (iv) (ii) (i)

3) (iv) (iii) (i) (ii)

4) (i) (ii) (iii) (iv)

86) Mmoarbm Joboë¶m Mma MmH$sMm emoY KoVmZm nmo{bgm§Zm VrZ doJdoJù¶m ì¶º$s¨H$Sy>Z nwT>rb ‘m{hVr {‘imbr …
A) JmS>rMm H«$‘m§H$ Mma A§H$s Amho.
~) JmS>rÀ¶m H«$‘mH$m§À¶m ~oaOobm 4 Zo ^mJ OmVmo.
H$) JmS>rÀ¶m H«$‘m§H$mÀ¶m EH$H$ ñWmZr 4 hm A§H$ Amho.
n¶m©¶r CÎmao …
1) UPU 4054 2) WBB 3544

3) DLM 3214 4) MPY 8324

86) While investigating about a stolen car, the police received information from different persons as

follows :

a) The car number has four digits.

b) The sum of digits of the car number is divisible by 4.

c) The unit place digit of the car number is 4.

Answer Options :

1) UPU 4054 2) WBB 3544

3) DLM 3214 4) MPY 8324
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87) Imcr {Xcoë¶m g§»¶m ‘m{cHo$V àíZ {MÝhmÀ¶m OmJr H$moUVr g§»¶m ¶oB©c ?
5, 54, 90, 115, 131, 140,  ?
1) 149 2) 146
3) 144 4) 152

87) Which number will come in place in place of question mark in the following number series?

5, 54, 90, 115, 131, 140,  ?

1) 149 2) 146

3) 144 4) 152

88) EH$m gm§Ho${VH$ ̂ mfoV a,3 Amho, b,5 Amho,c,7 Amho Am{U ¶mà‘mUo. Va Ë¶m gm§Ho${VH$ ̂ mfoV 'SPORTSMAN' hm eãX
H$gm {c{hVm ¶oB©c?
1) 39 33 31 37 41 39 27 3 29 2) 39 33 31 41 41 39 27 3 29
3) 39 33 31 37 41 31 27 3 29 4) 39 33 31 37 37 39 27 3 29

88) If a 3, b is 5, c is 7 and so on; in a code language, than how 'SPORTSMAN' can be written

in that code language ?

1) 39 33 31 37 41 39 27 3 29 2) 39 33 31 41 41 39 27 3 29

3) 39 33 31 37 41 31 27 3 29 4) 39 33 31 37 37 39 27 3 29

89) A, ~, H$, S>, n d ’$ ¶m ghm ì¶º$s nañnam§V g‘mZ A§Va amIyZ dVw©imH$ma ~gë¶m AmhoV. nU Ë¶m ¶mM AZwH«$‘mZo
~gboë¶m AmhoV Ago Zmhr. "A' Am{U "n' ho dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da ~gbo AmhoV nU "n', "S>' À¶m eoOmar
Zmhr. "A', "H$' À¶m COì¶m ~mOybm AgyZ "~' À¶m eoOmar Zmhr.
darb ‘m{hVrZwgma gË¶ Zgbobo {dYmZ {ZdS>m.
1) "H$' Am{U "S>' dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da ~gbobo ZmhrV.
2) "H$' Am{U "~' {ZpíMVnUo dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da AmhoV.
3) "S>' À¶m g§X^m©V ì¶mgmÀ¶m {déÕ Q>moH$mda ¶oÊ¶mgmR>r "~' bm "n' À¶m COì¶m hmVmbm ~gmdo bmJob.
4) "~' Am{U "’$' ¶m§À¶m Zo‘³¶m OmJm R>adÊ¶mgmR>r "~' À¶m ñWmZmÀ¶m g§X^m©V A{YH$ ‘m{hVrMr JaO Amho.

89) Six persons namely A, B, C, D, P and F are sitting in a circle keeping equal distance from each

other. But they are not seated in the same order. A and P sit on opposite ends of the diameter of

the circle but not adjacent to P, D. A is on the right side of C and not next to B.

Choose the statement which is not true according to the above information.

1) C and D do not sit on opposite ends of the circle diameter.

2) C and B are definitely on opposite ends of the circle diameter.

3) B has to sit on the right hand side of P to be at the opposite end of the diameter with respect to

D.

4) More information is needed regarding the location of B and F to determine the exact location

of B.
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90) {Xcocr ‘m{hVr H$miOrnyd©H$ dmMm Am{U àíZmMo CÎma  Úm.
q~Xÿ A hm q~Xÿ B À¶m npíM‘ocm 8 ‘rQ>ada Amho.
q~Xÿ C hm q~Xÿ B À¶m X{jUocm 4 ‘rQ>ada Amho.
q~Xÿ D hm q~Xÿ C À¶m nyd©ocm 4 ‘rQ>ada Amho.
q~Xÿ E hm q~Xÿ D À¶m CÎmaocm 7 ‘rQ>ada Amho.
q~Xÿ F hm q~Xÿ E À¶m npíM‘ocm 8 ‘rQ>ada Amho.
q~Xÿ G hm q~Xÿ F À¶m X{jUocm 3 ‘rQ>ada Amho.
q~Xÿ F hm q~X A nmgyZ {H$Vr Xÿa Amho ?
1) 7 ‘rQ>a 2) 11 ‘rQ>a
3) 4 ‘rQ>a 4) ‘rQ>a

90) Read the information carefully and answer the question.

Point A is 8 m. to the West of point B.

Point C is 4 m. to the South of point B.

Point D is 4 m. to the East of point C.

Point E is 7 m. to the North of point D.

Point F is 8 m. to the West of point E

Point G is 3 m. to the South of point F.

How far is point F from point A ?

1) 7 m. 2) 11 m

3) 4 m 4) 5 m.

91) 40 dñVy§Mr IaoXr qH$‘V 50 dñVy§À¶m {dH«$s qH$‘Vr EdT>r Amho. Va Ë¶m ì¶dhmamVrc Z’$m qH$dm VmoQ>m
{H$Vr?
1) eo. 25 Z’$m 2) eo. 20 Z’$m
3) eo. 25 VmoQ>m 4) eo. 20 VmoQ>m

91) The cost price 20 articles equals to the selling price of 25 articles. There will be profit or

loss in this transaction and how much?

1) 25 percent profit 2) 20 percent profit

3) 25 percent loss 4) 20 percent loss

92) 7 … 3 Ago H$‘©Mmè¶m§Mo ì¶dñWmnH$mer à‘mU Agboë¶m EH$m H$maImÝ¶mVrb 70% H$‘©Mmar d 30% ì¶dñWmnH$ H|$Ðo
‘Ü¶o OodU KoVmV. Va H°$ÝQ>rZ ‘Ü¶o OodU KoUmè¶m§Mo EHy$U à‘mU {H$Vr % Amho ?
1) 100% 2) 58%
3) 95% 4) 45%

92) The ratio of employee to manager is 7 : 3, 70% of the employees and 30% of the managers take

lunch in the canteen. What % of total work force takes lunch in canteen ?

1) 100% 2) 58%

3) 95% 4) 45%
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93) EH$Q>m A EH$ Ka 15 {XdgmV ~m§Yy eH$Vmo. VoM Ka B EH$Q>m 10 {XdgmV ~m§Yy eH$Vmo. Oa A Am{U B ho EH$ {XdgmAmS>
H$m‘ H$arV AgVrb Am{U Oa A n{hë¶m {Xder H$m‘ H$aVmV; Va Vo Ka ~m§YÊ¶mgmR>r {H$Vr {Xdg bmJVrb?
1) 12 2) 13 1/2
3) 14 4) 10 4/3

93) A can build a house alone in 15 days but B alone can build it in 10 days. A and B work on alternate

days. If A works on the first day, in how many days will the house be built?

1) 12 2) 13 1/2

3) 14 4) 10 4/3

94) EH$m {H«$Ho$Q> ñnY}gmR>r doJdoJù¶m 18 g§KmZo Amnbo Zmd Zm|X{dbo Amho. àË¶oH$ g§KmZo Xþgè¶m àË¶oH$ g§Kmer gm‘Zm
Ioimd¶mMm Amho. Va EHy$U gm‘Zo {H$Vr hmoVrb?
1) 179 2) 163
3) 173 4) 153

94) 18 teams have registered their names for the cricket competition. Every team has to play a match

with another team. How many total matches will there be?

1) 179 2) 163

3) 173 4) 153

95) EH$ ~moQ> àdmhmÀ¶m {XeoZo 30 {H$‘r/Vmg ¶m doJmZo OmVo d àdmhmÀ¶m {déÕ {XeoZo 24 {H$‘r/Vmg ¶m doJmZo naV ¶oVo.
Va ~moQ>rMm g§W nmÊ¶mVrb doJ gm§Jm d àdmhmMm doJ H$mT>m.
1) 26 {H$‘r/Vmg d 3 {H$‘r/Vmg 2) 28 {H$‘r/Vmg d 3 {H$‘r/Vmg
3) 27 {H$‘r/Vmg d 2 {H$‘r Vmg 4) 27 {H$‘r/Vmg d 3 {H$‘r/Vmg

95) A boat travels upstream with a speed of 30 km/hr and returns upstream with a speed of 24 km/hr.

Then state the speed of the boat in slow water and find the speed of the current.

1) 26 km/h and 3 km/h 2) 28 km/h and 3 km/h

3) 27 km/hr and 2 km/hr 4) 27 km/hr and 3 km/hr

96) Imbr {Xboë¶m AmH¥$VrV Am¶V ‘{hbm Xe©{dVmo, {ÌH$moU {e{jV Xe©{dVmo, dV©wi J«m‘rU Xe©{dVmo Am{U Mm¡H$moZ
ñd¶§amoOJma Xe©{dVmo; Va Imbrbn¡H$s H$moU A{e{jV ñd¶§amoOJmarV J«m‘rU ‘{hbm Amho ?

1) 4 2) 18
3) 5 4) 3
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96) In the following diagram, rectangle represents females, triangle represents educated, circle

represents rural and square represents self employed. Who among the following is uneducated

self employed rural female ?

1) 4 2) 18

3) 5 4) 3

97) EH$m JQ>mV A, B, C, D Am{U E Aem nmM ì¶º$s AmhoV. Ë¶mV B, C Mm ^mD$ Amho. ¶m 5 ì¶º$sV EH$ OmoS>no Amho.
E hm Zdam Amho. A Am{U D ‘¡{ÌUr AmhoV Am{U Ë¶m§Zr b¾ Ho$bobo Zmhr. Va E Mr ~m¶H$mo H$moU ?
1) B 2) C
3) D 4) A

97) In a group there are five persons. A, B, C, D and E. B is the brother of C. In these five people there

is one couple. E is the husband. A and D are female friends and they are unmarried. Who is a wife

of "E’ ?

1) B 2) C

3) D 4) A

98) gmo~VÀ¶m OmirMo {ZarjU H$am.

nwT>rbn¡H$s ¶m Omirbm KS>çm KmbyZ ~ZdVm Z ¶oUmam KZ {ZdS>m.

1) 2) 

3) 4) 
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98) Observe the accompanying mesh.

Choose the cube from the following that cannot be formed by clocking this lattice.

1) 2) 

3) 4) 

99) àJV Xoem§V Amamo½¶ godm§gmR>r nwadë¶m OmUmè¶m Am{W©H$ nmVirMm Ë¶m§À¶m bmoH$g§»¶oÀ¶m Amamo½¶mda ’$maM WmoS>m
n[aUm‘ hmoVmo Ago gm§p»¶H$s {díbofU XmIdyZ XoVo. Oar H$mhr Xoe XaS>moB© ghmnQ> OmXm IM© H$aVmV Am{U H$mhr ’$º$
¶mÀ¶m {Zå‘o IM© H$aVmV Var Ë¶m§À¶m bmoH$g§»¶oMo Am¶w‘m©Z Odinmg gmaIoM Amho. ¶m‘wio bmoH$m§Mo Amamo½¶ XaS>moB©
IM© Ho$boë¶m n¡em§À¶m nwadR>çmda Adb§~yZ AgVo Ago åhUUo {ZaW©H$ Amho.
¶m ¶wº$sdmXmg§X^m©Vrb AmYma ŷV J¥hrVH$ {ZdS>m.
1) bmoH$m§Mo Amamo½¶ gwYmaÊ¶mgmR>r XoemZo XaS>moB© AW©nwadR>m dmT>dm¶bm hdm.
2) bmoH$m§Mo Amamo½¶ Ë¶m§À¶m Am¶w‘m©ZmVyZ {ZX}{eV Ho$bo OmVo.
3) XaS>moB© AW©nwadR>çmMo à‘mU hm XoemVrb bmoH$m§À¶m Amamo½¶mMm C{MV {ZX}eH$ Zmhr.
4) bmoH$m§Mo Am¶w‘m©Z dmT>dÊ¶mgmR>r n[aUm‘H$maH$ Amamo½¶ godm àUmbr {dH${gV H$aUo hr XoemÀ¶m àemgZmMr

O~m~Xmar Amho.
99) Statistical analysis shows that in the advanced countries the level of financing towards health

services is making little impact on the health of their populations. Though some countries spend

six times as much per head on the health facilities and countries spending only half as much, life

expectancies of their populations are almost same. Thus it is meaningless to say that the health of

population depends in the level of finances spent per head.

Select the underlying assumption with respect to above argument.

1) For improving health of its population country should increase per head finance.

2) The health of populations is indicated by life expectancy of population.

3) Proportion of finances spent per head is not an appropriate indicator of health of population of

any country.

4) It is responsibility of the government to develop efficient health care system for increasing

life expectancy of its population.
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100) ¶mo½¶ {ZîH$f© {ZdS>m …
{dYmZ … Am¡a§Jm~mX Vo MoÞB© àdmg hdmB© ‘mJm©Zo ObX hmoVmo.
{ZîH$f© …
a) Am¡a§Jm~mX Am{U MoÞB© hr {R>H$mUo hdmB© ‘mJm©Zo OmoS>bobr Amho.
b) Am¡a§Jm~mX Vo MoÞB©gmR>r Xþgam H$moUVmhr XiU-diUmMm ‘mJ© CnbãY Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ (a) hm {ZîH$f© ¶mo½¶ Amho . 2) ’$º$ (b) hm {ZîH$f© ¶mo½¶ Amho.
3) XmoÝhr (a) Am{U (b) {ZîH$f© ¶mo½¶ Amho. 4) XmoÝhr (a) Am{U (b) {ZîH$f© ¶mo½¶ Zmhr.

100) Choose proper conclusion :

Statement : It is faster to travel by air from Aurangabad to Chennai.

Conclusion :

a) Aurangabad and Chennai are connected by air services.

b) There is no other means of transportation between Aurangabad to Chennai.

Answer Options:

1) Only conclusion (a) is implicit. 2) Only conclusion (b) is implicit.

3) Both (a) and (b) are implicit. 4) Neither (a) or (b) are implicit.

________



For Private Circulation Only

(38)

CÎmao … ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm gamd nona

1-1 2-3 3-1 4-1 5-2 6-4 7-4 8-3 9-3 10-3

11-4 12-3 13-3 14-4 15-3 16-1 17-4 18-3 19-1 20-4

21-2 22-1 23-4 24-3 25-2 26-2 27-3 28-1 29-2 30-4

31-2 32-1 33-1 34-3 35-2 36-3 37-2 38-2 39-4 40-2

41-1 42-2 43-4 44-1 45-4 46-4 47-4 48-4 49-2 50-3

51-2 52-3 53-2 54-2 55-3 56-4 57-2 58-1 59-2 60-2

61-2 62-1 63-4 64-3 65-4 66-4 67-4 68-2 69-4 70-1

71-3 72-2 73-2 74- 75-3 76-2 77-3 78-2 79-2 80-4

81-1 82-3 83-4 84-2 85-4 86-2 87-3 88-1 89-2 90-4

91-4 92-2 93-1 94-4 95-4 96-4 97-2 98-3 99-2 100-1

1) ¶mn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
a) S>ãbynrEb {H«$Ho$Q> H$n 2023 ‘w§~B© BpÝS>¶Ýg ‘{hbm g§KmZo qOH$bm.
b) ‘w§~B© BpÝS>¶Ýg {H«$Ho$Q> g§KmMr H$U©Yma ñ‘¥Vr ‘§WmZm hr hmoVr.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) ’$º$
3) (a) Am{U (b) XmoÝhrhr 4) (a) Am{U (b) XmoÝhrhr Zmhr

1) Which of the following statement/s is true?

a) WPL Cricket Tournament 2023 will be won by woman team of Mumbai Indians

b) Smriti Mandana is the captain of Mumbai Indians Woman team

Options :

1) Only (a) 2) Only (b)

3) Both (a) and (b) 4) None of (a) and (b)

gamd nona (15 E{àb, 2023)


